

Item Value List Generated On 4/19/2018

I DINCOMINE A				i iitoi.	(mactive -	· 140) /	טט) שנוו	pplici – beli	Tryc Compa	ı ı y
Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
Overall					4000.00			\$21,754.44	\$43,675.50	
					0.00			\$0.00	\$0.00	
		Ben Nye Company	BN-CW-3	Clown White 3oz/85gm	0.00	\$4.25	\$8.50	\$0.00	\$0.00	
Ben Nye Makeup					3979.00			\$21,609.44	\$43,385.50	
Ben Nye Makeup		Ben Nye Company	BN-PSP-01	Neutral Pearl Sheen Palet	0.00	\$30.00	\$60.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-GG-1	Glitz It Glitter Gel 1oz/28gm	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-0	BondOff! Adhesive Rmvr	0.00	\$1.25	\$2.50	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-11	BondOff! Adhesive Rmvr	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-4	BondOff! Adhesive Rmvr	0.00	\$17.50	\$35.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-3	BondOff! Adhesive Rmvr	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-21	BondOff! Adhesive Rmvr	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-GR-2	Spirit Gum Remover 1oz	0.00	\$1.50	\$3.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-1	BondOff! Adhesive Rmvr	1.00	\$3.75	\$7.50	\$3.75	\$7.50	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-2	BondOff! Adhesive Rmvr	0.00	\$6.50	\$13.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-AD-3	Prosthetic Adhesive 4oz/	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-AD-1	Prosthetic Adhesive 1oz/	1.00	\$4.00	\$8.00	\$4.00	\$8.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-SG-3	Spirit Gum Adhesive 8 fl oz	3.00	\$16.00	\$32.00	\$48.00	\$96.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-GR-22	Spirit Gum Remover 2oz	5.00	\$2.50	\$5.00	\$12.50	\$25.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-SG-4	Spirit Gum Adhesive 16 fl	0.00	\$24.00	\$48.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-SG-25	Spirit Gum Adhesive 4 fl oz	1.00	\$10.00	\$20.00	\$10.00	\$20.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-GR-25	Spirit Gum Remover 4oz	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BR-15	BondOff! Adhesive Rmvr	9.00	\$4.50	\$9.00	\$40.50	\$81.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-AGB	Glitter Glue 1 fl oz/29 ml	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-SG-2	Spirit Gum Adhesive 1 fl oz	62.00	\$4.50	\$9.00	\$279.00	\$558.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-GR-3	Spirit Gum Remover 8oz	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-BSR-1	Spirit Gum & Remover C	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-SG-1	Spirit Gum Adhesive .25 fl	60.00	\$1.88	\$4.00	\$112.80	\$240.00	
Ben Nye Makeup	BN Adhesive	Ben Nye Company	BN-GR-1	Spirit Gum Remover .5oz	0.00	\$1.25	\$2.50	\$0.00	\$0.00	
Ben Nye Makeup	BN Casualty	Ben Nye Company	BN-EMG	EMG Trauma Simulation	0.00	\$0.00	\$15.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Casualty	Ben Nye Company	BN-PE-5	Case for Moulage Kit	6.00	\$50.25	\$100.50	\$301.50	\$603.00	
Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-15	CAMOUFLAGE F/X Colo	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Character	Ben Nye Company	BN-DSB-3	Dark Blood 1 oz/ 29ml	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Character	Ben Nye Company	BN-DSB-2	Dark Blood .5 oz/14ml	0.00	\$1.50	\$3.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Character	Ben Nye Company	BN-GL-8	Glycerin 8oz/236ml	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
Ben Nye Makeup	BN Character		BN-GE-2	Blood Effects Gel 2oz/59ml	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
Ben Nye Makeup		Ben Nye Company	BN-GE-6	Scar/Opaque Effects 2oz	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
II .										



Item Value List Generated On 4/19/2018

					i iitoi.	(mactive -	· 140) /	טטן שניו	ppiici – bcii	Tryc Compai	
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GE-1	Blood Effects Gel 1oz/29ml	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GE-5	Scar/Opaque Effects 1oz	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HG-1	SILVER GREY Hair Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HI-1	IVORY Hair Color 1oz/ 29	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HW-1	SNOW WHITE Hair Colo	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CM-1	CHARCOAL POWDER 4	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HI-4	IVORY Hair Color 16oz/ 4	0.00	\$12.00	\$24.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GE-3	Flesh/Clear Effects 1oz/2	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TH-2	TAUPE Hair Color 2 fl oz	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-AH-2	AUBURN Hair Color 2 oz/	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GE-4	Flesh/Clear Effects 2oz/5	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-BT-0	Bronzing Body Tint 1oz	1.00	\$2.50	\$5.00	\$2.50	\$5.00	
5000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-BT-2	Bronzing Body Tint 8oz	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DG-3	DARK GREY Hair Color	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DG-2	DARK GREY Hair Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-3	BURNT CORAL F/X Cre	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-8	BLACK F/X Creme	1.00	\$4.75	\$9.50	\$4.75	\$9.50	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HDFXP-1	ULTIMATE F/X Palette 18	2.00	\$40.00	\$80.00	\$80.00	\$160.00	
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FXS-1	BRUISE F/X Stack 5 Color	0.00	\$12.50	\$25.00	\$0.00	\$0.00	
0000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-PD-2	PLAINS DUST 10oz/283gm	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-13	OLD CHARACTER 2 F/X	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
0.50000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-BT-3	Bronzing Body Tint 16oz J	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-WK-51	RED/BLK/WHT Characte	0.00	\$6.50	\$13.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DSB-7	Dark Blood 32 oz/ 946ml	1.00	\$19.00	\$38.00	\$19.00	\$38.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-7	Stage Blood 32 fl oz	3.00	\$19.00	\$38.00	\$57.00	\$114.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-PD-1	PLAINS DUST 4.5oz/127	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-6	PURPLE F/X Creme	1.00	\$4.75	\$9.50	\$4.75	\$9.50	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MB-1	MIDNITE BLACK Hair Co	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
8000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MP-5	CHARCOAL POWDER	1.00	\$4.00	\$8.00	\$4.00	\$8.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FXS-2	AGE F/X Stack 5 Color	1.00	\$12.50	\$25.00	\$12.50	\$25.00	
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-35	DARK CRIMSON F/X Cr	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MP-8	ASH POWDER .9oz/25g	3.00	\$4.00	\$8.00	\$12.00	\$24.00	
100000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-31	FIRE RED F/X Creme	1.00	\$4.75	\$9.50	\$4.75	\$9.50	
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-12	CHROME YELLOW F/X	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FXS-3	BURN F/X Stack 5 Color	1.00	\$12.50	\$25.00	\$12.50	\$25.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-72	BLACK & BLUE F/X Cre	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
12											



Item Value List Generated On 4/19/2018

11					1 11161.	(iiiaciive =	INO) F	AIND (Su	bbilei = peli	inye Cumpai	ııу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-11	SALLOW GREEN F/X Cr	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-97	BLUE F/X Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-5	Cat/Lion Kit	11.00	\$10.00	\$20.00	\$110.00	\$220.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-AP-1	ASH POWDER 5.3oz/15	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-9	SEVERE EXPOSURE F/	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-EW-41	BRUISE & ABRASIONS	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HG-3	SILVER GREY Hair Color	2.00	\$7.50	\$15.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HI-2	IVORY Hair Color 2oz/ 58	7.00	\$3.50	\$7.00	\$24.50	\$49.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HI-3	IVORY Hair Color 8oz/ 23	2.00	\$7.50	\$15.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MW	MONSTER Character W	1.00	\$10.00	\$18.00	\$10.00	\$18.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TB-3	Thick Blood 16oz/ 454gm	1.00	\$19.00	\$38.00	\$19.00	\$38.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-WK-21	VAMPIRE Character Wh	0.00	\$6.50	\$13.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-3	Witch Kit	20.00	\$10.00	\$20.00	\$200.00	\$400.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MDW	MASTER DISASTER Effe	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MB-3	MIDNITE BLACK Hair Co	4.00	\$7.50	\$15.00	\$30.00	\$60.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-91	VEIN F/X Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-4	BRUISE & ABRASION F/	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-21	Auguste Clown Kit	6.00	\$10.00	\$20.00	\$60.00	\$120.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DSB-6	Dark Blood 16 oz/ 473ml	0.00	\$12.00	\$24.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HG-2	SILVER GREY Hair Color	11.00	\$3.50	\$7.00	\$38.50	\$77.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-1	Vampire Kit	19.00	\$9.40	\$20.00	\$178.60	\$380.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HW-3	SNOW WHITE Hair Colo	7.00	\$7.50	\$15.00	\$52.50	\$105.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CM-2	CHARCOAL POWDER 1	1.00	\$10.00	\$20.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-4	Skeleton Kit	42.00	\$9.40	\$20.00	\$394.80	\$840.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-EW-4	MASTER BRUISE Wheel	1.00	\$10.00	\$20.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-EW-5	BURNS & BLISTERS Wh	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GE-10	Effects Gel Wound 3pc K	2.00	\$12.00	\$24.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-ZW	ZOMBIE Character Whe	0.00	\$10.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DW	DEATH Character Wheel	0.00	\$10.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-EW-9	BALD CAP STIPPLE Wh	1.00	\$10.00	\$20.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DSB-4	Dark Blood 2 oz/ 59ml	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-7	Ghoul Kit	56.00	\$9.40	\$20.00	\$526.56	\$1,120.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-EW-1	BRUISE Wheel 4 Colors	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup		Ben Nye Company	BN-KW	CAMOULFLAGE Effects	0.00	\$10.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup		Ben Nye Company	BN-EW-3	CUT & BRUISE Wheel 4	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-8	AGE EFFECTS F/X Colo	0.00	\$7.50	\$15.00	\$0.00	\$0.00	



Item Value List Generated On 4/19/2018

1					riiter.(mactive =	INO) F	งเทบ (อน	pplier = beri	пуе Сотграну
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-11	OLD CHARACTER F/X	0.00	\$7.50	\$15.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GL-2	Glycerin 2oz/59ml	4.00	\$3.50	\$7.00	\$14.00	\$28.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-45	Stage Blood 4 fl oz	12.00	\$5.00	\$10.00	\$60.00	\$120.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HG-4	SILVER GREY Hair Color	2.00	\$12.00	\$24.00	\$24.00	\$48.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-6	Stage Blood 16 fl oz	0.00	\$12.00	\$24.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-2	Clown Kit	16.00	\$9.45	\$20.00	\$151.14	\$320.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-MB-2	MIDNITE BLACK Hair Co	6.00	\$3.50	\$7.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-EW-7	TRAUMA SIMULATION 3	0.00	\$10.00	\$20.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-1	BRUISES F/X Color Wheel	1.00	\$7.50	\$15.00	\$7.50	\$15.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-5	BURN & BLISTER F/X C	1.00	\$7.50	\$15.00	\$7.50	\$15.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GB-2	Gelatin Blood Capsules 3	2.00	\$6.00	\$12.00	\$12.00	\$24.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TB-2	Thick Blood 6oz/ 170gm	6.00	\$11.00	\$22.00	\$66.00	\$132.00
\$00000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-WK-11	CLOWN Character Whe	1.00	\$6.50	\$13.00	\$6.50	\$13.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-AP-2	ASH POWDER 10.4oz/2	0.00	\$10.00	\$20.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GB-1	Gelatin Blood Capsules 1	0.00	\$2.50	\$5.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HW-4	SNOW WHITE Hair Colo	0.00	\$12.00	\$24.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HW-2	SNOW WHITE Hair Colo	1.00	\$3.50	\$7.00	\$3.50	\$7.00
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-4	Stage Blood 2 fl oz	57.00	\$3.50	\$7.00	\$199.50	\$399.00
3000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-3	CUTS & BRUISES F/X C	0.00	\$7.50	\$15.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TS-2	Fresh Scab Blood Effect	6.00	\$11.00	\$22.00	\$66.00	\$132.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-BT-1	Bronzing Body Tint 2oz	4.00	\$3.00	\$6.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GB-0	Blood Pack .5oz Blood/12	10.00	\$4.50	\$9.00	\$45.00	\$90.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-DSB-5	Dark Blood 8 oz/ 236ml	3.00	\$7.50	\$15.00	\$22.50	\$45.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TS-3	Fresh Scab Blood Effect	1.00	\$19.00	\$38.00	\$19.00	\$38.00
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-GE-11	Wound & Burn 3pc Kit-2o	0.00	\$15.00	\$30.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TC-1	BLACK Tooth Color .125 f	1.00	\$3.00	\$6.00	\$3.00	\$6.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TC-0	NATURAL WHITE Tooth	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TC-4	DECAY Tooth Color .125	1.00	\$3.00	\$6.00	\$3.00	\$6.00
\$00000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TC-3	ZOMBIE ROT Tooth Clr	1.00	\$3.00	\$6.00	\$3.00	\$6.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TC-2	NICOTINE Tooth Color .1	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TS-1	Fresh Scab Blood Effect	9.00	\$3.75	\$7.50	\$33.75	\$67.50
000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TB-1	Thick Blood 1oz/ 28gm	12.00	\$3.75	\$7.50	\$45.00	\$90.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-HK-6	Old Age Kit	46.00	\$9.41	\$20.00	\$432.96	\$920.00
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-5	Stage Blood 8 fl oz	15.00	\$7.50	\$15.00	\$112.50	\$225.00
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-10	SAPPHIRE BLUE F/X Cr	2.00	\$4.75	\$9.50	\$9.50	\$19.00
	Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-1	MEDIUM PLUM F/X Cre	5.00	\$4.75	\$9.50	\$23.75	\$47.50



Item Value List Generated On 4/19/2018

				riiter.(i	mactive =	INO) A	เทบ (อน	pplier = beri	пуе Сопрапу
Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-15	LIVER SPOT F/X Creme	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-2	BRUISE F/X Creme	5.00	\$4.75	\$9.50	\$23.75	\$47.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-00	ULTRALITE F/X Creme	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-4	CHARCOAL BLUE F/X C	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-9	GREY PURPLE F/X Cre	7.00	\$4.75	\$9.50	\$33.25	\$66.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-13	CAPILLARY STIPPLE F/	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-0	WHITE F/X Creme	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-7	MIDNITE VIOLET F/X Cr	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-5	DARK BURGUNDY F/X	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-17	FRECKLE STIPPLE F/X	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX192	CHARACTER SHADOW	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX321	DARK SUNBURN F/X Cr	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-34	FRESH CUT F/X Creme	2.00	\$4.75	\$9.50	\$9.50	\$19.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-78	BEARD STIPPLE F/X Cr	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-33	BLOOD RED F/X Creme	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-19	AGE SPOT F/X Creme	8.00	\$4.75	\$9.50	\$38.00	\$76.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-32	DRIED BLOOD F/X Cre	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-77	DARK BROWN F/X Cre	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX121	GOLDENROD F/X Creme	2.00	\$4.75	\$9.50	\$9.50	\$19.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-FX-51	MAROON F/X Creme	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Ben Nye Makeup	BN Character	Ben Nye Company	BN-CK-7	AGE STIPPLE F/X Color	2.00	\$7.50	\$15.00	\$15.00	\$30.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-1	BLACK Character Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-2	FIRE RED Character Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-3	FRESH CUT Character	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-4	BLUE Character Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-5	YELLOW Character Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-6	GREEN Character Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BHC-7	PURPLE Character Color	0.00	\$2.50	\$5.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BWK-2	Vampire Palette .5oz/14gm	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BWK-6	Skeleton Palette .5oz/14gm	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BWK-8	Old Character Palette .5o	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-BWK-9	Ghoul Palette .5oz/14gm	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-1	VAMPIRA Character Base	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-2	VAMPIRE Character Base	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-3	SKELETON WHITE Char	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup		Ben Nye Company	BN-CB-4	OLD CHARACTER Char	0.00	\$3.00	\$6.00	\$0.00	\$0.00



Item Value List Generated On 4/19/2018

1					riilei.(mactive =	NO) A	เทบ (อน	ppiler = beri	пуе Сопрапу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-6	WITCH Character Base	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-7	WEREWOLF BRN Char	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-8	GHOUL GREY Characte	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-BWK-3	Witch Palette .5oz/14gm (0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-BWK-7	Cat Palette .5oz/14gm (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-CB-5	MINSTREL BROWN Cha	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-2	Stage Blood .5 fl oz	0.00	\$1.50	\$3.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-SB-3	Stage Blood 1 fl oz	0.00	\$2.00	\$4.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TB-0	Thick Blood .5oz/ 14gm	0.00	\$2.50	\$5.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-TH-3	TAUPE Hair Color 8 oz (D)	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-WK-61	Character Wheel SKELE	0.00	\$5.50	\$11.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Character	Ben Nye Company	BN-WK-71	Character Wheel CAT/LI	0.00	\$5.50	\$11.00	\$0.00	\$0.00
\$00000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-CW-3A	Clown White 2.25oz/63g	0.00	\$2.99	\$6.50	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-LKP-1	Primary Creme Palette 6	0.00	\$13.50	\$27.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-4	WHITE MagiColor Pencil	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-20	TURQUOISE MagiColor	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-14	WARM BROWN MagiCol	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-1	BLACK MagiColor Pencil	1.00	\$3.00	\$6.00	\$3.00	\$6.00
20000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-SP-100	Creme Color Stack-Ups	0.00	\$7.50	\$15.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BWK-1	Clown Palette .5oz/14gm	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MJ-3	BRIGHT BLUE MagiColo	0.00	\$5.00	\$10.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MJ-4	WHITE MagiColor Crayon	0.00	\$5.00	\$10.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MJ-2	VELVET BLACK MagiCol	0.00	\$5.00	\$10.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MJ-1	BOLD RED MagiColor Cr	2.00	\$5.00	\$10.00	\$10.00	\$20.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-DK-1	Clown Kit DLX	0.00	\$11.96	\$26.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MJ-5	TRUE RED MagiColor Cr	0.00	\$5.00	\$10.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-2	FIRE RED MagiColor Pe	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP109	BLUE SPIRIT Pro Creme	0.00	\$6.00	\$12.00	\$0.00	\$0.00
\$00000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP112	GREY Pro Creme 1oz/28	6.00	\$6.00	\$12.00	\$36.00	\$72.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP103	FIRE RED Pro Creme 1o	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-5	BLUE MagiColor Pencil	2.00	\$3.00	\$6.00	\$6.00	\$12.00
0000000000	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP107	BLACK Pro Creme 1oz/2	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-CW-4	Clown White 8oz/227gm	1.00	\$8.00	\$16.00	\$8.00	\$16.00
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP100	AUGUSTE Pro Creme 1o	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup		Ben Nye Company	BN-FP102	CLOWN WHITE LITE Pr	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup		Ben Nye Company	BN-CW-5	Clown White 16oz/454gm	0.00	\$11.00	\$22.00	\$0.00	\$0.00



Item Value List Generated On 4/19/2018

11					i iitoi.	(mactive –	100)	טטן שניו	pplici – beli	rive Compa	,ııy
Ì	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP108	YELLOW Pro Creme 1 oz	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP104	TRUE RED Pro Creme 1	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-3	RUBY RED MagiColor Pe	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-CW-2	Clown White 1.75oz/49gm	110.00	\$2.82	\$6.00	\$310.20	\$660.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-19	COSMIC BLUE MagiColo	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-RB	RED/WHT/BLK Characte	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP110	KELLY GREEN Pro Crem	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP111	OGRE GREEN Pro Cre	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP-10	BIG TOP AUGUSTE Pro	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP106	BLUE Pro Creme 1oz/28	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP101	LT AUGUSTE Pro Creme	5.00	\$6.00	\$12.00	\$30.00	\$60.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP105	BRIGHT PINK Pro Crem	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP116	PURPLE Pro Creme 1oz/	6.00	\$6.00	\$12.00	\$36.00	\$72.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-FP114	ORANGE Pro Creme 1oz	12.00	\$6.00	\$12.00	\$72.00	\$144.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-CW-1	Clown White .65oz/18gm	185.00	\$1.63	\$3.50	\$301.61	\$647.50	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-23	KELLY GREEN MagiColo	6.00	\$3.00	\$6.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-6	MagiColor Pencil Green (0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-11	BRT ORANGE MagiColo	2.00	\$3.00	\$6.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-15	CHARACTER SHADOW	2.00	\$3.00	\$6.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-18	MISTY VIOLET MagiColo	7.00	\$3.00	\$6.00	\$21.00	\$42.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-8	VIOLET MagiColor Pencil	4.00	\$3.00	\$6.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BWK-5	Red /White/Black Palette	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BB-4	Creme Bright Colour FIR	0.00	\$3.50	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BB-5	Creme Bright Colour OR	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BB-6	Creme Bright Colour BLU	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BB-8	Creme Bright Colour GR	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BB-81	Creme Bright Colour KEL	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-BB-9	Creme Bright Colour YEL	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-LKP-2	Clown Crème Palette 6 (D)	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-12	MagiColor Pencil HOT PI	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-21	MagiColor Pen MARIGO	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-22	MagiColor Pen LIME GR	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-MC-9	MagiColor Pencil MAGEN	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-RPP-10	Creme Refill AUGUSTE	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Clown Ma	Ben Nye Company	BN-RPP-101	Creme Refill LT AUGUSTE	0.00	\$2.00	\$4.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CC-4	Coverette Cover-up Dee	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
16											



Item Value List Generated On 4/19/2018

1					riiler.	(mactive =	INO) /	AIND (Su	ppiler = peri	rnye Company
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NKS-5	Neutralizer Stack 5 Color	2.00	\$15.00	\$30.00	\$30.00	\$60.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NB-4	BLUE Neutralizer No.4 (D)	3.00	\$4.75	\$9.50	\$14.25	\$28.50
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DVS-5	DuraCover Stack 5 Color	2.00	\$15.00	\$30.00	\$30.00	\$60.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV-35	DuraCover 35	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-HDAP-1	CONCEALER/ADJUSTE	0.00	\$40.00	\$80.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NKP-12	Concealer Palette 12 Clr	0.00	\$24.00	\$48.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SCS-5	Mojave Adjuster Stack 5	0.00	\$15.00	\$30.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTR03	MINT Corrector Colors	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MY-2	Mellow Yellow NORMAL	6.00	\$4.75	\$9.50	\$28.50	\$57.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MY-11	Mellow Yellow MEDIUM	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTRW-1	Corrector Wheel 4 Color	0.00	\$7.50	\$15.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SK-1	Cover-All Wheel 4 Color	0.00	\$7.50	\$15.00	\$0.00	\$0.00
50000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTRW-100	Corrector Wheel 6 Color	0.00	\$14.00	\$28.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NK-1	Conceal-All Wheel 4 Color	0.00	\$7.50	\$15.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NK-11	Conceal-All Wheel 6 Color	1.00	\$14.00	\$28.00	\$14.00	\$28.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV-40	DuraCover 40	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SK-11	Tattoo Cover-All Wheel .5	0.00	\$7.50	\$15.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SK-2	Highlight Wheel 4 Color	0.00	\$7.50	\$15.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CC-3	MEDIUM Coverette Cove	3.00	\$4.75	\$9.50	\$14.25	\$28.50
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CC-1	ULTRA FAIR Coverette C	5.00	\$4.75	\$9.50	\$23.75	\$47.50
0000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CC-2	FAIR Coverette Cover-up	4.00	\$4.75	\$9.50	\$19.00	\$38.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CC-0	ULTRALITE Coverette C	3.00	\$4.75	\$9.50	\$14.25	\$28.50
0000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTR01	LAVENDER Corrector Co	1.00	\$4.75	\$9.50	\$4.75	\$9.50
	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTR05	PEACH Corrector Colors	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTR09	OCHRE TAN Corrector	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-CTR07	BURNT ORANGE Corre	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV130	DuraCover 130	1.00	\$4.75	\$9.50	\$4.75	\$9.50
0000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV-70	DuraCover 70	2.00	\$4.75	\$9.50	\$9.50	\$19.00
50000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV320	DuraCover 320	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV-30	DuraCover 30	1.00	\$4.75	\$9.50	\$4.75	\$9.50
	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV-45	DuraCover 45	1.00	\$4.75	\$9.50	\$4.75	\$9.50
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-DV-50	DuraCover 50	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-FS-1	STUDIO Five O' Sharp B	6.00	\$4.75	\$9.50	\$28.50	\$57.00
000000000	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-FS-3	OLIVE Five O' Sharp Bea	7.00	\$4.75	\$9.50	\$33.25	\$66.50
SECRECIONS.	Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-GC-1	GREEN Concealer No. 1	1.00	\$4.75	\$9.50	\$4.75	\$9.50
COCCOCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCC	Ben Nye Makeup		Ben Nye Company	BN-NB-1	BLUE Neutralizer No.1	4.00	\$4.75	\$9.50	\$19.00	\$38.00



Item Value List Generated On 4/19/2018

				Filler.(I	nactive =	INO) F	แทบ (อน	pplier = beri	пуе Сотграну
Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NB-2	BLUE Neutralizer No.2	2.00	\$4.75	\$9.50	\$9.50	\$19.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NB-3	BLUE Neutralizer No.3	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MY-1	Mellow Yellow FAIR	2.00	\$4.75	\$9.50	\$9.50	\$19.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MO-1 1	Mellow Orange LITE	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MO-2	Mellow Orange MEDIUM	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NT-2	Tattoo Cover #2	5.00	\$4.75	\$9.50	\$23.75	\$47.50
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NT-4	Tattoo Cover #4	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NT-11	Tattoo Cover #11	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NT-3	Tattoo Cover #3	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NT-1	Tattoo Cover #1	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NR-3	RED Neutralizer #3	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NR-1	RED Neutralizer #1	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-NR-2	RED Neutralizer #2	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SK100	Total Cover-All Wheel I 1 oz	4.00	\$14.00	\$28.00	\$56.00	\$112.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SK200	Total Cover-All Wheel II 1	3.00	\$14.00	\$28.00	\$42.00	\$84.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-SK-3	Shadow Wheel 4 Color .5	1.00	\$7.50	\$15.00	\$7.50	\$15.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-FS-5	Five O' Sharp RUDDY (D)	0.00	\$4.75	\$9.50	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-FS-7	Five O' Sharp CINNAMO	0.00	\$4.75	\$9.50	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MO-1	Mellow Orange FAIR (D)	0.00	\$4.75	\$9.50	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MO-3	Mellow Orange DEEP (D)	0.00	\$4.75	\$9.50	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MY-0	Mellow Yellow LITE (D)	0.00	\$4.75	\$9.50	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-MY-3	Mellow Yellow CLASSIC (0.00	\$4.75	\$9.50	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-RMY-1	Concealer Palette Refill F	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-RMY-2	Concealer Palette Rfl NO	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-RNB-1	Blue Neutralizer No.1 Refill	0.00	\$4.00	\$8.00	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-RNR-2	Red Neutralizer No.2 Refill	0.00	\$4.00	\$8.00	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-RNT-1	Tattoo Cover No.1 Refill	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Conceale	Ben Nye Company	BN-RNT-2	Tattoo Cover No.2 Refill	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-HDCCP-1	BLUSH & CONTOUR Pal	0.00	\$40.00	\$80.00	\$0.00	\$0.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-11	CINNAMON Creme Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CSK-31	Mojave Contour Wheel 4	0.00	\$6.50	\$13.00	\$0.00	\$0.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCS03	NATURAL Creme Shado	0.00	\$8.00	\$16.00	\$0.00	\$0.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL191	COSMIC BLUE Creme C	0.00	\$3.50	\$7.00	\$0.00	\$0.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-19	BLUE Creme Color	2.00	\$3.50	\$7.00	\$7.00	\$14.00
Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-70	SPECIAL ORANGE Cre	0.00	\$3.50	\$7.00	\$0.00	\$0.00
Ben Nye Makeup		Ben Nye Company	BN-CL-22	SKY BLUE Creme Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00



Item Value List Generated On 4/19/2018

•					riiler.	(mactive =	INO) I	4เทบ (อน	pplier = beri	i nye Compan	IJ
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-1	WHITE Creme Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-12	COPPER BROWN Crem	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-20	TURQUOISE Creme Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-31	ARMY GREEN Creme C	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-14	BLOOD RED Creme Color	2.00	\$3.50	\$7.00	\$7.00	\$14.00	
100000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-16	VIVID VIOLET Creme Co	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
00000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-9	SUNBURN STIPPLE Cre	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CH-01	NATURAL LITE Creme H	2.00	\$3.50	\$7.00	\$7.00	\$14.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-5	EXTRA DARK Creme Sh	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-27	BEARD STIPPLE Creme	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-4	DK BROWN Creme Sha	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-5	YELLOW Creme Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
100000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-4	BRIGHT PINK Creme Co	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CH-0	ULTRALITE Creme Highli	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-6	GOLDENROD Creme C	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
00000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-17	MISTY VIOLET Creme C	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-18	PURPLE Creme Color	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-61	DESERT TAN Creme Color	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
20000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-29	BLACK Creme Color	48.00	\$2.94	\$7.00	\$141.12	\$336.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-13	FIRE RED Creme Color	13.00	\$2.94	\$7.00	\$38.22	\$91.00	
00000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-26	GREY Creme Color	4.00	\$3.50	\$7.00	\$14.00	\$28.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-7	ORANGE Creme Color	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
00000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-33	GECKO GREEN Creme	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-21	PEACOCK BLUE Creme	9.00	\$3.50	\$7.00	\$31.50	\$63.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-3	GREEN Creme Color	6.00	\$3.50	\$7.00	\$21.00	\$42.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-23	BLUE-GREY Creme Color	2.00	\$3.50	\$7.00	\$7.00	\$14.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-15	MAROON Creme Color	7.00	\$3.50	\$7.00	\$24.50	\$49.00	
00000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-10	DARK SUNBURN Creme	9.00	\$3.50	\$7.00	\$31.50	\$63.00	
500000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-8	MAUVE Creme Color	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-28	COAL Creme Color	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-32	LIME GREEN Creme Color	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
0000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CH-6	DARK Creme Highlight	4.00	\$3.50	\$7.00	\$14.00	\$28.00	
200000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL-2	FOREST GREEN Creme	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
0000000000	Ben Nye Makeup		Ben Nye Company	BN-CH-2	LITE Creme Highlight	4.00	\$3.50	\$7.00	\$14.00	\$28.00	
20000000000	Ben Nye Makeup		Ben Nye Company	BN-CL-25	STEEL GREY Creme Color	7.00	\$3.50	\$7.00	\$24.50	\$49.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CH-1	EXTRA LITE Creme Highl	4.00	\$3.50	\$7.00	\$14.00	\$28.00	

Item Value List Generated On 4/19/2018

`					riiler.	(mactive =	NO) /	AIND (Su	pplier = ber	гиуе Сотграну
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-11	NATURAL BRN Creme S	8.00	\$3.50	\$7.00	\$28.00	\$56.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-3	CHARACTER SHADOW	2.00	\$3.50	\$7.00	\$7.00	\$14.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-6	MIDNITE BROWN Crem	6.00	\$3.50	\$7.00	\$21.00	\$42.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-21	CONTOUR BRN Creme	6.00	\$3.50	\$7.00	\$21.00	\$42.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL211	KELLY GREEN Creme C	3.00	\$3.50	\$7.00	\$10.50	\$21.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL130	SPECIAL RED Creme Co	13.00	\$3.50	\$7.00	\$45.50	\$91.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CL131	FRESH CUT Creme Color	2.00	\$3.50	\$7.00	\$7.00	\$14.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-HY-1	YELLOW Highlight No. 1	2.00	\$4.75	\$9.50	\$9.50	\$19.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH09	ALMOND Creme Highligh	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCS01	NEUTRAL Creme Shado	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH11	CAMEL Creme Highlight	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH03	ULTRA LITE Creme Highl	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH07	NUDE Creme Highlight C	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH15	LT CARAMEL Creme Hig	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH01	PORCELAIN Creme High	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH10	BANANA Creme Highlight	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH02	PALEST PINK Creme Hig	1.00	\$8.00	\$16.00	\$8.00	\$16.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH00	WHITE Creme Highlight	2.00	\$8.00	\$16.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCS05	MEDIUM Creme Shadow	1.00	\$8.00	\$16.00	\$8.00	\$16.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCS09	MIDNITE Creme Shadow	1.00	\$8.00	\$16.00	\$8.00	\$16.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCS07	RICH BROWN Creme S	1.00	\$8.00	\$16.00	\$8.00	\$16.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-MCH05	IVORY Creme Highlight	1.00	\$8.00	\$16.00	\$8.00	\$16.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-18	BURNT BROWN Mojave	5.00	\$4.75	\$9.50	\$23.75	\$47.50
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-12	BRICK Mojave Adjuster	3.00	\$4.75	\$9.50	\$14.25	\$28.50
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-6	SIENNA ORANGE Mojav	2.00	\$4.75	\$9.50	\$9.50	\$19.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-9	APRICOT Mojave Adjuster	2.00	\$4.75	\$9.50	\$9.50	\$19.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-8	GOLDEN YELLOW Moja	3.00	\$4.75	\$9.50	\$14.25	\$28.50
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-5	ADOBE BROWN Mojave	3.00	\$4.75	\$9.50	\$14.25	\$28.50
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-3	LIGHT BROWN Mojave	2.00	\$4.75	\$9.50	\$9.50	\$19.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-2	LIGHTEST BROWN Moj	4.00	\$4.75	\$9.50	\$19.00	\$38.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CH-4	Creme Highlight MEDIUM	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CH-5	Creme Highlight DEEP (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-1	Creme Shadow SUBTLE	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-2	Creme Shadow MEDIUM	0.00	\$3.00	\$6.00	\$0.00	\$0.00
Section of the	Ben Nye Makeup		Ben Nye Company	BN-CS-7	Creme Shadow SIENNA	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-8	Creme Shadow SIENNA	0.00	\$3.00	\$6.00	\$0.00	\$0.00

Item Value List Generated On 4/19/2018

					i iitoi.	(mactive -	\cdot 140) I	טטן שניו	ppiici – bcii	Tryc Compa	,
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-CS-9	Creme Shadow SIENNA	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-10	Mojave Adjuster BURNT	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-14	Mojave Adjuster SIENNA	4.00	\$4.75	\$9.50	\$19.00	\$38.00	
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-16	Mojave Adjuster DEEP R	4.00	\$4.75	\$9.50	\$19.00	\$38.00	
	Ben Nye Makeup	BN Creme Hi	Ben Nye Company	BN-SC-4	Mojave Adjuster MEDIUM	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LE-1	EBONY Liquid Eye Liner	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-20	STARRY NIGHT Lumiere	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-3	AZTEC GOLD Lumiere	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ESP94	Brilliant Lumiere Palette 8	0.00	\$30.00	\$60.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER302	VANILLA ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-88	CELESTIAL BLEU ES Refil	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-99	BLACK ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-90	NAVY BLUE ES Refill	2.00	\$4.50	\$9.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-31	TOAST ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-66	LEMON ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-68	SHAMROCK ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-78	BROWNBERRY ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-93	CINDERELLA BLUE ES	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
8	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-32	SANTA FE ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-57	TWILIGHT SABLE ES R	1.00	\$4.50	\$9.00	\$4.50	\$9.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-34	TAUPE ES Refill	1.00	\$4.50	\$9.00	\$4.50	\$9.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-76	BURGUNDY ES Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-1	LT BROWN 7" Eyebrow	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ESP54	Glam Eye Shadow Palett	0.00	\$37.50	\$75.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-1	BLACK Mascara	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-8	Lumiere Refill CHARTRE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-3	Lumiere Refill AZTEC GO	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR12	Lumiere Refill COSMIC B	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR17	Lumiere Refill COSMIC V	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-4	Lumiere Refill SILVER	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ESP93	Metallic Lumiere Palette 8	0.00	\$30.00	\$60.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ESP14	Theatrical Eye Shadow P	0.00	\$25.00	\$50.00	\$0.00	\$0.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-0	WHITE Cake Eye Liner	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-55	TAUPE Cake Eye Liner	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-7	BLACK BROWN 7" Eyeb	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
20000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PEL-2	DK BROWN Precision Ey	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
12											



Item Value List Generated On 4/19/2018

						(mactive =	INO) /	AIND (Su	ppiler = beri	гиуе Сотграп	IJ
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES391	APRICOT Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-6	SUN YELLOW Lumiere	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES319	HONEY Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-SLS-5	MediaPRO Eye Definers	0.00	\$12.50	\$25.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS325	NAUGHTY BERRY Pearl	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-82	ROYAL PURPLE Eye Sh	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-16	AZALEA Lumiere Grande	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PEL-0	WHITE Precision Eye Liner	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS301	MOONLIGHT Pearl Sheen	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PEL-5	GUNMETAL GRY Precisi	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES302	VANILLA Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-30	WHITE Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
50000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES314	SHELL Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-40	SPICE Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-52	MOCHA Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-59	RICH SUEDE Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-62	MOSSBERRY Eye Shado	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-80	DEEP VIOLET Eye Shad	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-95	BLUE GREY Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LE-0	WHITE Liquid Eye Liner	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-0	WHITE 7" Eyebrow Pencil	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-2	AUBURN 7" Eyebrow Pe	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-3	TAUPE 7" Eyebrow Pencil	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-36	SMOKEY TAUPE Eye Sh	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-0	WHITE Mascara	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES595	BLACK-BROWN Eye Sh	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-15	PERSIMMON Lumiere G	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-11	TURQUOISE Lumiere Gr	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
5000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-12	COSMIC BLUE Lumiere	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-5	ULTRA VIOLET Pearl Sh	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS303	SANDSTORM Pearl Sheen	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS395	NIGHTCLUB Pearl Sheen	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-50	CORK Eye Shadow	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
20000000000	Ben Nye Makeup		Ben Nye Company	BN-PS-1	WHITE Pearl Sheen	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
NECESCO DE LA COLONIA DE LA CO	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-13	ROYAL PURPLE Lumiere	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
COCCOCCOCC	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ESP12	Essential Eye Shadow Pa	0.00	\$25.00	\$50.00	\$0.00	\$0.00	

Item Value List Generated On 4/19/2018

11					i iitor.	(mactive –	INO) I	טטן שניו	pplici – beli	Tryc Compa	uч
Ì	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES782	EGGPLANT Eye Shadow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	-
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUK-12	Lumiere Grande 12 Clr P	0.00	\$32.50	\$65.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-99	BLACK Eye Shadow	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PEL-1	INK BLK Precision Eye Li	3.00	\$9.00	\$18.00	\$27.00	\$54.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-SL-16	SOFT GREY MediaPRO	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-SL-9	BLACK MediaPRO Eye D	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-90	ONYX 4.75" EyeLiner Pe	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-9	BLACK 7" Eyebrow Pencil	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS312	UMBER GLOW Pearl Sh	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-90	NAVY BLUE Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-86	TWILIGHT BLUE Eye Sh	5.00	\$6.00	\$12.00	\$30.00	\$60.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-78	BROWNBERRY Eye Sha	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-35	COBBLESTONE Eye Sh	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-76	BURGUNDY Eye Shadow	6.00	\$6.00	\$12.00	\$36.00	\$72.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-71	TURQUOISE Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-75	BLACK PLUM Eye Shado	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-56	ESPRESSO Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-34	TAUPE Eye Shadow	7.00	\$6.00	\$12.00	\$42.00	\$84.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-88	CELESTIAL BLEU Eye S	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-54	DK BROWN Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-32	SANTA FE Eye Shadow	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-31	TOAST Eye Shadow	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-72	RAISIN Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-84	BAHAMA BLUE Eye Shad	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-68	SHAMROCK Eye Shadow	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-93	CINDERELLA BLUE Eye	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-69	CARIBBEAN Eye Shadow	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-57	TWILIGHT SABLE Eye S	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-66	LEMON Eye Shadow	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-1	BLACK Cake Eye Liner	9.00	\$5.00	\$10.00	\$45.00	\$90.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-41	DK BROWN Pro Size .18	6.00	\$7.00	\$14.00	\$42.00	\$84.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-7	ELECTRIC BLUE Cake E	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-5	BROWN Cake Eye Liner	2.00	\$5.00	\$10.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-6	EGGPLANT Cake Eye Li	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-2	CHARCOAL Cake Eye Li	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EL-4	DARK BROWN Cake Ey	9.00	\$5.00	\$10.00	\$45.00	\$90.00	
ini											

Item Value List Generated On 4/19/2018

11.					i iitor.	(mactive -	140) /	טטן שניו	pplici – beli	Tryc Compa	u ب
Ì	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES538	COCO BROWN Eye Sha	5.00	\$6.00	\$12.00	\$30.00	\$60.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES332	MISTY LILAC Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER319	HONEY ES Refill	1.00	\$4.50	\$9.00	\$4.50	\$9.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES312	BANANA Eye Shadow	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-98	GRAPHITE Eye Shadow	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES784	CRUSHED GRAPE Eye	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES318	AU NATURELLE Eye Sha	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-19	PEACOCK Lumiere Gran	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-9	MERMAID GREEN Lumi	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-18	GOLDEN APRICOT Lumi	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-14	AMETHYST Lumiere Gra	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-17	COSMIC VIOLET Lumier	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-5	BRONZE Lumiere Grande	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-10	JADE Lumiere Grande	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-7	TANGERINE Lumiere Gr	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-21	INDIAN COPPER Lumier	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-4	SILVER Lumiere Grande	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-8	CHARTREUSE Lumiere	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-2	ICED GOLD Lumiere Gr	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU-1	ICE Lumiere Grande	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-6	ELECTRIC BLUE Masca	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-3	CLEAR GEL Mascara	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LE-2	DARK BROWN Liquid Ey	7.00	\$4.50	\$9.00	\$31.50	\$63.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-2	DARK BROWN Mascara	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LU155	CHERRY RED Lumiere	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-SL-14	TAUPE MediaPRO Eye D	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-22	TURQUOISE Pearl Sheen	13.00	\$5.00	\$10.00	\$65.00	\$130.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-21	CHARCOAL Pearl Sheen	10.00	\$5.00	\$10.00	\$50.00	\$100.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS330	LILAC FIZZ Pearl Sheen	2.00	\$5.00	\$10.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS320	SIZZLEBERRY Pearl She	2.00	\$5.00	\$10.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS315	HOT MANGO Pearl Sheen	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-19	SILVER GREY Pearl She	7.00	\$5.00	\$10.00	\$35.00	\$70.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-15	GOLD Pearl Sheen	6.00	\$5.00	\$10.00	\$30.00	\$60.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-18	BRONZE Pearl Sheen	4.00	\$5.00	\$10.00	\$20.00	\$40.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS310	SUN GODDESS Pearl S	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-6	SAPPHIRE Pearl Sheen	7.00	\$5.00	\$10.00	\$35.00	\$70.00	
Si .											

Item Value List Generated On 4/19/2018

					1 1101.1	(111401110 -	110, ,	115 (54	ppc 2011	i i i y o o o i i pa	,
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS380	ELECTRIC EEL Pearl Sh	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-9	ROSE Pearl Sheen	5.00	\$5.00	\$10.00	\$25.00	\$50.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS360	DEEP COVE Pearl Sheen	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS385	GALAXY DUST Pearl Sh	4.00	\$5.00	\$10.00	\$20.00	\$40.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-20	SEA BLUE Pearl Sheen	2.00	\$5.00	\$10.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-16	WHITE GOLD Pearl She	2.00	\$5.00	\$10.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-14	COPPER Pearl Sheen	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS340	GREEN ENVY Pearl Sheer	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-13	WALNUT Pearl Sheen	4.00	\$5.00	\$10.00	\$20.00	\$40.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS350	TAHITIAN TEAL Pearl Sh	2.00	\$5.00	\$10.00	\$10.00	\$20.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PS-12	MANGO Pearl Sheen	3.00	\$5.00	\$10.00	\$15.00	\$30.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-PEL-7	NAUTICAL BLU Precisio	3.00	\$9.00	\$18.00	\$27.00	\$54.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER328	ES Refill PIXIE PINK (D)	0.00	\$4.00	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-48	ES Refill TOFFEE (D)	0.00	\$4.00	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-53	ES Refill ASH BROWN (D)	0.00	\$4.00	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-77	ES Refill BRICKSTONE (D)	0.00	\$4.00	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ER-79	ES Refill VIOLETA (D)	0.00	\$4.00	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-304	Eye Shadow HEATHER (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-306	Eye Shadow PEONY (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-317	Eye Shadow TAOS (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-328	Eye Shadow PIXIE PINK	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-33	Eye Shadow MAUVY (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-38	Eye Shadow PEACH (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-39	Eye Shadow MELON (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-393	Eye Shadow JUST NUD	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-395	Eye Shadow TERRA CO	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-44	Eye Shadow GOLDENR	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-48	Eye Shadow TOFFEE (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-64	Eye Shadow KHAKI (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-65	Eye Shadow GREEN TE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-70	Eye Shadow TEAL (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-74	Eye Shadow PURPLE HA	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
100000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-77	Eye Shadow BRICKSTO	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-79	Eye Shadow VIOLETA (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-92	Eye Shadow PATRIOT B	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-4	Mascara TAUPE (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
65											

Item Value List Generated On 4/19/2018

1					riiler.	(mactive =	NO) I	AIND (Su	pplier = beri	гиуе Сотграп)
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-5	Mascara AUBURN (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-7	Mascara ROYAL PURPL	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-8	Mascara AUBERGINE (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LM-9	Mascara BAHAMA BLUE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUK-6	Lumiere Grande 6 Col Pa	0.00	\$17.50	\$35.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-1	Lumiere Refill ICE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR10	Lumiere Refill JADE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR11	Lumiere Refill TURQUOI	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR13	Lumiere Refill ROYAL PU	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR14	Lumiere Refill AMETHYST	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR15	Lumiere Refill PERSIMM	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR16	Lumiere Refill AZALEA	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR18	Lumiere Refill GOLDEN A	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR19	Lumiere Refill PEACOCK	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-2	Lumiere Refill ICED GOLD	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR20	Lumiere Refill STARRY N	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR21	Lumiere Refill INDIAN C	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-5	Lumiere Refill BRONZE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR55	Lumiere Refill CHERRY	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-6	Lumiere Refill SUN YELL	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-7	Lumiere Refill TANGERINE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
9	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LUR-9	Lumiere Refill MERMAID	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-1	Lumiere Pro ICE (D)	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-10	Lumiere Pro JADE (D)	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-11	Lumiere Pro TURQUOIS	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-12	Lumiere Pro COSMIC BL	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-13	Lumiere Pro ROYAL PUR	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-14	Lumiere Pro AMETHYST	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-15	Lumiere Pro PERISMMO	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-16	Lumiere Pro AZALEA (D)	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-17	Lumiere Pro COSMIC VI	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-18	Lumiere Pro GOLDEN A	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
00000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-19	Lumiere Pro PEACOCK (0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-2	Lumiere Pro ICED GOLD	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-20	Lumiere Pro STARRY NI	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
200000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-21	Lumiere Pro INDIAN CO	0.00	\$9.50	\$19.00	\$0.00	\$0.00	

Item Value List Generated On 4/19/2018

					riiler.	(mactive =	NO) I	4เทบ (อน	pplier = beri	гиуе Сотграп)
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-3	Lumiere Pro AZTEC GOL	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-4	Lumiere Pro SILVER (D)	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-5	Lumiere Pro BRONZE (D)	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-6	Lumiere Pro SUN YELO	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-7	Lumiere Pro TANGERIN	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-8	Lumiere Pro CHARTREU	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-LV-9	Lumiere Pro MERMAID	0.00	\$9.50	\$19.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-1	Lumiere CLR Refill ICE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-10	Lumiere CLR Refill JADE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-11	Lumiere CLR Refill TUR	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-12	Lumiere CLR Refill COS	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-14	Lumiere CLR Refill AMET	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
500000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-155	Lumiere CLR Refill CHER	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-16	Lumiere CLR Refill AZALE/	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-17	Lumiere CLR Refill COS	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-2	Lumiere CLR Refill ICED	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-20	Lumiere CLR Refill STAR	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-21	Lumiere CLR Refill IND C	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-3	Lumiere CLR Refill AZTE	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-4	Lumiere CLR Refill SILVER	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-5	Lumiere CLR Refill BRO	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-6	Lumiere CLR Refill SUN	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-7	Lumiere CLR Refill TANG	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-RL-8	Lumiere CLR Refill CHAR	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-4	MED BROWN 7" Eyebro	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-5	DK BROWN 7" Eyebrow	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-EP-85	ESPRESSO 4.75" EyeLin	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-37	MINK STOLE Eye Shadow	6.00	\$6.00	\$12.00	\$36.00	\$72.00	
50000000	Ben Nye Makeup	BN Eye Make	Ben Nye Company	BN-ES-97	GREYSTONE Eye Shado	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-4	BLUE Aqua Glitter	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-3	RED Aqua Glitter	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-7	PURPLE Aqua Glitter	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
2000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-8	NEON GREEN Aqua Glitt	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-6	GREEN Aqua Glitter	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
20000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-11	GALACTIC VIOLET Aqua	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
3000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FW-1	GOLD DUST Fireworks	0.00	\$4.75	\$9.50	\$0.00	\$0.00	

Item Value List Generated On 4/19/2018

1					riiter.((mactive =	INO) F	งเทบ (อน	ppiler = beri	пуе Сопрапу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FW	Fireworks Fantasy Whee	0.00	\$10.00	\$20.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR12	COSMIC BLUE Lumiere	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR16	AZALEA Lumiere Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR11	TURQUOISE Lumiere Cr	0.00	\$4.75	\$9.50	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR13	ROYAL PURPLE Lumiere	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-8	CHARTREUSE Lumiere	0.00	\$4.75	\$9.50	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-7	TANGERINE Lumiere Cr	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR17	COSMIC VIOLET Lumier	0.00	\$4.75	\$9.50	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCP-12	Lumiere Creme Palette 1	0.00	\$32.50	\$65.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCP-1	Lumiere Creme Palette 1	0.00	\$40.00	\$80.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-8	CHARTREUSE Lumiere	1.00	\$6.00	\$12.00	\$6.00	\$12.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-14	AMETHYST Lumiere Po	0.00	\$6.00	\$12.00	\$0.00	\$0.00
\$00000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-7	TANGERINE Lumiere Po	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-5	BRONZE Lumiere Powder	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-6	INDIAN COPPER Lumier	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-18	GOLDEN APRICOT Lumi	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-13	ROYAL PURPLE Lumiere	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-4	SILVER Lumiere Creme	1.00	\$4.75	\$9.50	\$4.75	\$9.50
20000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR10	JADE Lumiere Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX155	CHERRY RED Lumiere P	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS-4	SILVER Sparkle Powder	0.00	\$6.50	\$13.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS20	STARRY NIGHT Sparkle	0.00	\$6.50	\$13.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CSC-4	OPAL Shimmer Crayon	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CSC-3	STARRY NIGHT Shimme	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CSC-2	GOLD Shimmer Crayon	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CSC-1	SILVER Shimmer Crayon	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS61	SUN YELLOW Sparkle P	1.00	\$6.50	\$13.00	\$6.50	\$13.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS16	AZALEA Sparkle Powder	0.00	\$6.50	\$13.00	\$0.00	\$0.00
\$00000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-9	MERMAID GREEN Lumi	1.00	\$6.00	\$12.00	\$6.00	\$12.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCRS1	METALLICS Lumiere Sta	4.00	\$15.00	\$30.00	\$60.00	\$120.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-3	AZTEC GOLD Lumiere P	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS-2	ICED GOLD Sparkle Po	0.00	\$6.50	\$13.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-61	SUN YELLOW Lumiere P	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-11	TURQUOISE Lumiere Po	0.00	\$6.00	\$12.00	\$0.00	\$0.00
20000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-16	AZALEA Lumiere Powder	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-12	COSMIC BLUE Lumiere	1.00	\$6.00	\$12.00	\$6.00	\$12.00



Item Value List Generated On 4/19/2018

					riiler.	(mactive =	NO) I	4เทบ (อน	pplier = beri	i nye Compar	IJ
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-5	FUCHSIA Aqua Glitter	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-2	ICED GOLD Lumiere Cre	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-4	SILVER Sparklers Glitter	2.00	\$3.50	\$7.00	\$7.00	\$14.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-7	EMERALD GREEN Spar	4.00	\$3.50	\$7.00	\$14.00	\$28.00	
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-6	SUN YELLOW Lumiere	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-2	FIRE RED Sparklers Glitt	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-10	COPPER Aqua Glitter	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-2	FIRE RED Sparklers Lrg	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-5	ROYAL BLUE Sparklers	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-11	BLACK DIAMOND Sparkl	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-11	BLACK DIAMOND Sparkl	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-1	OPAL ICE Sparklers Glitt	2.00	\$3.50	\$7.00	\$7.00	\$14.00	
500000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-1	GOLD Aqua Glitter	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-9	NEON GREEN Sparklers	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD310	GOLD PRISM Sparklers	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD310	GOLD PRISM Sparklers	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-3	GOLD Sparklers Glitter	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS17	COSMIC VIOLET Sparkl	1.00	\$6.50	\$13.00	\$6.50	\$13.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-13	GALACTIC VIOLET Spar	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-5	ROYAL BLUE Sparklers	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-AG-2	SILVER Aqua Glitter	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-10	SILVER PRISM Sparklers	2.00	\$7.00	\$14.00	\$14.00	\$28.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-1	OPAL ICE Sparklers Lrg	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-6	FUCHSIA Sparklers Lrg	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-7	EMERALD GREEN Spar	2.00	\$7.00	\$14.00	\$14.00	\$28.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RW	RAINBOW Character W	0.00	\$8.50	\$18.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-12	COPPER Sparklers Lrg	5.00	\$7.00	\$14.00	\$35.00	\$70.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-3	GOLD Sparklers Lrg Glitter	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
5000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-19	PEACOCK Lumiere Pow	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-9	NEON GREEN Sparklers	2.00	\$7.00	\$14.00	\$14.00	\$28.00	
00000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-8	BRILLANT PURPLE Spar	3.00	\$7.00	\$14.00	\$21.00	\$42.00	
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-8	BRILLANT PURPLE Spar	1.00	\$3.50	\$7.00	\$3.50	\$7.00	
20000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-10	JADE Lumiere Powder	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
2000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF108	MagiCake LIME GREEN	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
SECONOMICS	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF129	MagiCake ROYAL PURP	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
20000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF251	MagiCake LINEN	0.00	\$3.00	\$7.00	\$0.00	\$0.00	



Item Value List Generated On 4/19/2018

11					1 11(61.)	(IIIactive =	INO) A	טט) שניו	bbiiei = peii	Trye Compan	ıу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF110	MagiCake GECKO GRE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF122	MagiCake SPLIT PEA	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF195	MagiCake HONEY BRO	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF-1	MagiCake CLOUD WHITE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF-10	MagiCake MARIGOLD	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF-15	MagiCake PASSION PINK	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF-17	MagiCake BRIGHT ORA	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF-20	MagiCake SUBTLE BRO	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and \dots	Ben Nye Company	BN-CF-23	MagiCake GREY	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-26	MagiCake BROWN-BLA	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-4	MagiCake FIRE RED	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-22	MagiCake CHARACTER	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-25	MagiCake ULTRA LITE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-62	MagiCake COSMIC BLUE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-8	MagiCake TURQUOISE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-5	MagiCake BRIGHT RED	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-14	MagiCake MAGENTA	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-7	MagiCake AZURE BLUE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-12	MagiCake TROPICAL G	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-11	MagiCake EMERALD GR	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-81	MagiCake TAHITIAN BLUE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-61	MagiCake STORMY BLUE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-21	MagiCake WARM BROWN	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-52	MagiCake CRANBERRY	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-6	MagiCake CALYPSO BLUE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-65	MagiCake MARINE BLUE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-82	MagiCake SEAFOAM	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-89	MagiCake MAIZE	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF135	MagiCake LT LAVENDER	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-13	MagiCake VIVID VIOLET	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-24	MagiCake MISTY VIOLET	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-19	MagiCake RUST	0.00	\$3.00	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA108	MagiCake Pro LIME GRE	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA165	MagiCake Pro BAZOOK	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA112	MagiCake Pro KELLY GR	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA129	MagiCake Pro ROYAL P	0.00	\$6.00	\$12.00	\$0.00	\$0.00	



Item Value List Generated On 4/19/2018

1					riiler.(i	mactive =	NO) A	แทบ (อน	ppiler = beri	пуе Сопрапу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-5	MagiCake Pro BRIGHT	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-9	MagiCake Pro SUNSHIN	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-4	MagiCake Pro FIRE RED	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-6	MagiCake Pro CALYPSO	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-65	MagiCake Pro MARINE B	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-1	MagiCake Pro CLOUD	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-12	MagiCake Pro TROPICA	0.00	\$6.00	\$12.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-17	MagiCake Pro BRIGHT	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-23	MagiCake Pro GREY	0.00	\$6.00	\$12.00	\$0.00	\$0.00
100000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-3	MagiCake Pro LICORICE	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-62	MagiCake Pro COSMIC	0.00	\$6.00	\$12.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LA-7	MagiCake Pro AZURE BL	0.00	\$6.00	\$12.00	\$0.00	\$0.00
100000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CFK-6	MagiCake Palette 6 Colors	0.00	\$14.00	\$28.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CFK12	MagiCake Palette 12 Col	0.00	\$24.00	\$48.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-13	GALACTIC VIOLET Spar	6.00	\$3.50	\$7.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-9	MagiCake SUNSHINE Y	0.00	\$3.00	\$7.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF112	MagiCake KELLY GREEN	0.00	\$3.00	\$7.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF102	MagiCake MUSTARD SE	0.00	\$3.00	\$7.00	\$0.00	\$0.00
20000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF165	MagiCake BAZOOKA PINK	0.00	\$3.00	\$7.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-16	MagiCake HOT PINK	0.00	\$3.00	\$7.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF104	MagiCake BURNT PUMP	0.00	\$3.00	\$7.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LD-4	SILVER Sparklers Lrg Gli	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-12	COPPER Sparklers Glitter	6.00	\$3.50	\$7.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-10	SILVER PRISM Sparklers	2.00	\$3.50	\$7.00	\$7.00	\$14.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-MD-6	FUCHSIA Sparklers Glitter	0.00	\$3.50	\$7.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR15	PERSIMMON Lumiere Cr	0.00	\$4.75	\$9.50	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FW-3	SILVER SATIN Fireworks	1.00	\$4.75	\$9.50	\$4.75	\$9.50
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FW-9	COPPER Fireworks Cre	1.00	\$4.75	\$9.50	\$4.75	\$9.50
\$00000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FW-7	RUBY LUSTER Firework	2.00	\$4.75	\$9.50	\$9.50	\$19.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FW-11	BRONZE Fireworks Cre	5.00	\$4.75	\$9.50	\$23.75	\$47.50
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR18	GOLDEN APRICOT Lumi	5.00	\$4.75	\$9.50	\$23.75	\$47.50
00000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-1	ICE Lumiere Creme	13.00	\$4.75	\$9.50	\$61.75	\$123.50
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR-5	BRONZE Lumiere Creme	5.00	\$4.75	\$9.50	\$23.75	\$47.50
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR55	CHERRY RED Lumiere	2.00	\$4.75	\$9.50	\$9.50	\$19.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCR21	INDIAN COPPER Lumier	1.00	\$4.75	\$9.50	\$4.75	\$9.50
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-15	PERSIMMON Lumiere P	1.00	\$6.00	\$12.00	\$6.00	\$12.00



Item Value List Generated On 4/19/2018

1					riiter.(mactive =	NO) A	แทบ (อน	ppiler = beri	пуе Сопрапу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS12	COSMIC BLUE Sparkle	1.00	\$6.50	\$13.00	\$6.50	\$13.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-4	SILVER Lumiere Powder	2.00	\$6.00	\$12.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LX-17	COSMIC VIOLET Lumier	2.00	\$6.00	\$12.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LXS-9	MERMAID GREEN Spar	2.00	\$6.50	\$13.00	\$13.00	\$26.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-CF-3	MagiCake LICORICE BL	0.00	\$3.00	\$7.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FL-1	Fireworks Pencil GOLD (0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FL-2	Fireworks Pencil SILVER	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FL-3	Fireworks Pencil OPAL (D)	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-FL-4	Fireworks Pencil COPPE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-LCRS2	BRILLANTS Lumiere Sta	0.00	\$15.00	\$30.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-1	MagiCake Refill CLOUD	0.00	\$2.50	\$5.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-10	MagiCake Refill MARIGO	0.00	\$2.50	\$5.00	\$0.00	\$0.00
50000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-102	MagiCake Refill MUSTAR	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-104	MagiCake Refill BURNT	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-108	MagiCake Refill LIME GR	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-11	MagiCake Refill EMERAL	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-110	MagiCake Refill GECKO	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-112	MagiCake Refill KELLY G	0.00	\$2.50	\$5.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-12	MagiCake Refill TROPIC	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-122	MagiCake Refill SPLIT PEA	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-129	MagiCake Refill ROYAL P	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-13	MagiCake Refill VIVID VI	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-135	MagiCake Refill LT LAVE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-14	MagiCake Refill MAGENTA	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-15	MagiCake Refill PASSIO	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-16	MagiCake Refill HOT PINK	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-165	MagiCake Refill BAZOOK	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-17	MagiCake Refill BRIGHT	0.00	\$2.50	\$5.00	\$0.00	\$0.00
5000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-19	MagiCake Refill RUST	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-195	MagiCake Refill HONEY	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-20	MagiCake Refill SUBTLE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-21	MagiCake Refill WARM B	0.00	\$2.50	\$5.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-22	MagiCake Refill CHARAC	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-23	MagiCake Refill GRAY	0.00	\$2.50	\$5.00	\$0.00	\$0.00
O SECONO DE LA COLONIA DE LA C	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-24	MagiCake Refill MISTY VI	0.00	\$2.50	\$5.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-25	MagiCake Refill ULTRA L	0.00	\$2.50	\$5.00	\$0.00	\$0.00

Item Value List Generated On 4/19/2018

1					ו וונטו.	(IIIactive =	· NO) F	AIND (Su	bbiiei = peii	inye Company
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-251	MagiCake Refill LINEN	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-26	MagiCake Refill BROWN	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-3	MagiCake Refill LICORIC	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-4	MagiCake Refill FIRE RED	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-5	MagiCake Refill BRIGHT	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-52	MagiCake Refill CRANBE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-6	MagiCake Refill CALYPS	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-61	MagiCake Refill STORM	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-62	MagiCake Refill COSMIC	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-65	MagiCake Refill MARINE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-7	MagiCake Refill AZURE B	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-8	MagiCake Refill TURQU	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-81	MagiCake Refill TAHITIA	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-82	MagiCake Refill SEAFOAM	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-89	MagiCake Refill MAIZE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Face and	Ben Nye Company	BN-RM-9	MagiCake Refill SUNSHI	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX03	WEEKENDER StarLuxe	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SPHD-10	BROADCAST TV HD Fn	1.00	\$37.50	\$75.00	\$37.50	\$75.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SPHD-01	BELLA HD Fndtn Palette	2.00	\$37.50	\$75.00	\$75.00	\$150.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SPHD-02	FAIR HD Fndtn Palette 8	1.00	\$37.50	\$75.00	\$37.50	\$75.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX05	CHAMONIX StarLuxe Fn	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-022	GEISHA Creme Fndtn (P)	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD910	SUMATRA HD Sheer Me	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD918	BROWN SUEDE HD She	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-024	PORCELAIN Creme Fndt	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-19	DK EGYPTIAN Color Ca	0.00	\$7.00	\$14.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD517	PALE BISCOTTE HD Sh	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-13	NATURAL FAIR Color Ca	0.00	\$7.00	\$14.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLXP-01	StarLuxe Foundation Pale	0.00	\$35.00	\$70.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM112	SILKY PEACH Matte Fnd	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD901	TAN AU LAIT HD Sheer	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM495	VANILLA ALMOND Matte	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD909	MOCHA HD Sheer Media	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-023	PURE IVORY Creme Fn	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-5	MOCHA Matte HD Fndtn	3.00	\$6.00	\$12.00	\$18.00	\$36.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD922	COCO SOUFFLE HD Sh	1.00	\$9.00	\$18.00	\$9.00	\$18.00

Item Value List Generated On 4/19/2018

1					rııter.(mactive =	INO) A	AIND (Su	ppiler = beri	nye Company
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDFP-3	GLOBAL HD Sheer Fndt	0.00	\$40.00	\$80.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDFP-1	DIVERSE HARMONY H	0.00	\$40.00	\$80.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-23	BLACK Color Cake Fndtn	0.00	\$7.00	\$14.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDFP-31	GLOBAL HD Sheer Fndt	0.00	\$40.00	\$80.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDFP-11	DIVERSE HARMONY H	0.00	\$40.00	\$80.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-LFP-12	ESSENTIAL Matte Fndtn	0.00	\$30.00	\$60.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BFP-12	OLIVE-BROWN Matte F	0.00	\$30.00	\$60.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-83	SALLOW GREEN Color	0.00	\$7.00	\$14.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-84	DEATH PURPLE Color C	0.00	\$7.00	\$14.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-35	CHINOIS MED Matte HD	2.00	\$6.00	\$12.00	\$12.00	\$24.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-11	ESPRESSO Matte HD Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-20	PALE VAMPIRE Creme F	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDTV4	BROADCAST 4 HD Shee	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-16	BLUE SPIRIT Creme Fnd	1.00	\$4.75	\$9.50	\$4.75	\$9.50
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-14	SALLOW GREEN Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-10	COCO SORBET Matte F	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-07	RIO TAN Matte Found (M	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CE-2	FAIR Cine Matte Fndtn CE	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-04	PECAN Matte Found (MH)	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-17	DEATH PURPLE Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-17	PALE HONEY Creme Fn	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-16	SEMI-SWEET Matte Fou	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-125	TAN AU LAIT Creme Fnd	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-05	BELLA 001 Creme Fndtn	0.00	\$4.75	\$9.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD357	CHAMONIX HD Sheer M	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BEL010	BELLA 010 Matte HD Fnd	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CE-7	LT TAN Cine Matte Fndtn	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CE-5	BEIGE Cine Matte Fndtn	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-NO-1	PALE BISCOTTE Matte F	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-12	JAPANESE Creme Fndtn	0.00	\$4.75	\$9.50	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD907	RIO TAN HD Sheer Medi	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-1	AU LAIT Matte HD Fndtn	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BEL001	BELLA 001 Matte HD Fnd	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BEL002	BELLA 002 Matte HD Fnd	0.00	\$6.00	\$12.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BN-1	BEIGE NAT 1 Matte Fnd	0.00	\$6.00	\$12.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BN-4	BEIGE NAT 4 Matte Fnd	1.00	\$6.00	\$12.00	\$6.00	\$12.00



Item Value List Generated On 4/19/2018

11.					1 11(61.)	(iiiaciive =	INO) A	uvo (Su	bbilei = peli	i ivye Cumpai	ıцу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CE-9	TAN Cine Matte Fndtn CE	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CN001	CLAIR Matte Fndtn (CN)	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-18	OLIVE TAN Matte HD Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-08	GOLDEN SPICE Matte F	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-N-1	FAIR Matte HD Fndtn (N)	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-N-3	BUFF Matte HD Fndtn (N)	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-NO-5	BRULEE Matte Fndtn (NO)	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-NO-7	SOFT CARAMEL Matte F	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SH-3	MEDIUM Matte HD Fndtn	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-46	ROSE BLUSH Color Cak	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-48	FAIR LADY Color Cake F	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-6	BUCKSKIN Color Cake F	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-89	TAN MALE Color Cake F	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-9	TAN #1 Color Cake Fndtn	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-87	FAIR MALE Color Cake F	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CE-3	LT BEIGE Cine Matte Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-111	LT CHINESE Creme Fndt	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-OB-2	OLIVE BEIGE 2 Matte Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CN003	TRUE BEIGE Matte Fndt	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BE-3	NAT BEIGE Matte HD Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-OB-1	OLIVE BEIGE 1 Matte Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD307	CINE LT BEIGE HD Shee	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-82	BLUE SPIRIT Color Cake	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD201	PURE IVORY HD Sheer	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD207	OLIVE FAIR HD Sheer M	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD204	ULTRA BEIGE HD Sheer	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MA-3	HAZELNUT Creme Fndt	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD491	BAMBOO 1 HD Sheer M	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-WO-1	WARM OLIVE #1 Matte F	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDFP-2	FAIR HD Sheer Fndtn Pal	1.00	\$40.00	\$80.00	\$40.00	\$80.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC022	GEISHA Color Cake Fndtn	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-02	LT IVORY Color Cake Fn	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-11	TAN #2 Color Cake Fndtn	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup		Ben Nye Company	BN-HD313	CINE TAN HD Sheer Me	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-2	PORCELAIN Color Cake	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-3	LATTE Matte HD Fndtn (0.00	\$6.00	\$12.00	\$0.00	\$0.00	

Item Value List Generated On 4/19/2018

					riiler.	(mactive =	NO) I	AIND (Su	ppiler = beri	гиуе Сотграту
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD519	BRULEE HD Sheer Medi	0.00	\$9.00	\$18.00	\$0.00	\$0.00
000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CN002	BARELY BEIGE Matte Fn	1.00	\$6.00	\$12.00	\$6.00	\$12.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BO-4	BAMBOO 4 Matte HD (BO)	5.00	\$6.00	\$12.00	\$30.00	\$60.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CE-1	FAIREST Cine Matte Fnd	2.00	\$6.00	\$12.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BO-3	BAMBOO 3 Matte HD (BO)	4.00	\$6.00	\$12.00	\$24.00	\$48.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BO-2	BAMBOO 2 Matte HD (BO)	4.00	\$6.00	\$12.00	\$24.00	\$48.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BN-3	BEIGE NAT 3 Matte Fnd	2.00	\$6.00	\$12.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BN-2	BEIGE NAT 2 Matte Fnd	1.00	\$6.00	\$12.00	\$6.00	\$12.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BO-1	BAMBOO 1 Matte HD (BO)	2.00	\$6.00	\$12.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BE-5	WARM SAND Matte HD	3.00	\$6.00	\$12.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BE-1	CAMEO Matte HD Fndtn	2.00	\$6.00	\$12.00	\$12.00	\$24.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BEL003	BELLA 003 Matte HD Fnd	3.00	\$6.00	\$12.00	\$18.00	\$36.00
500000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-BEL004	BELLA 004 Matte HD Fnd	2.00	\$6.00	\$12.00	\$12.00	\$24.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-23	DEEP BRONZE Creme F	7.00	\$4.75	\$9.50	\$33.25	\$66.50
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-21	RICH OLIVE Creme Fndt	3.00	\$4.75	\$9.50	\$14.25	\$28.50
000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-09	BELLA 002 Creme Fndtn	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-01	PALE BISQUE Creme Fn	3.00	\$4.75	\$9.50	\$14.25	\$28.50
000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-03	BLUSH BEIGE Creme Fn	1.00	\$4.75	\$9.50	\$4.75	\$9.50
200000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-15	VANILLA ALMOND Crem	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-11	CAMEO BEIGE Creme F	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-07	SHELL PINK Creme Fndt	2.00	\$4.75	\$9.50	\$9.50	\$19.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-13	BELLA 003 Creme Fndtn	3.00	\$4.75	\$9.50	\$14.25	\$28.50
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CT-19	BELLA 004 Creme Fndtn	4.00	\$4.75	\$9.50	\$19.00	\$38.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CN-0	ULTRA Matte Fndtn (CN)	3.00	\$6.00	\$12.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CN004	DUNE Matte Fndtn (CN)	4.00	\$6.00	\$12.00	\$24.00	\$48.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-CN010	TRES CLAIR Matte Fndt	1.00	\$6.00	\$12.00	\$6.00	\$12.00
000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-EB-6	NATURELLE BUFF Matt	6.00	\$6.00	\$12.00	\$36.00	\$72.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-EB-1	NATURELLE Matte Foun	2.00	\$6.00	\$12.00	\$12.00	\$24.00
50000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-FT-8	MOCHA CREME Matte F	1.00	\$6.00	\$12.00	\$6.00	\$12.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-FT-13	GOLDEN EBONY Matte	1.00	\$6.00	\$12.00	\$6.00	\$12.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD516	PECAN HD Sheer Media	6.00	\$9.00	\$18.00	\$54.00	\$108.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD510	SHINSEI DEEP HD Shee	1.00	\$9.00	\$18.00	\$9.00	\$18.00
SECONOMISMS.	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD495	VANILLA ALMOND HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD494	BAMBOO 4 HD Sheer M	2.00	\$9.00	\$18.00	\$18.00	\$36.00
20000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD419	BEIGE NATURAL 3 HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
3000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD401	NATURAL BEIGE HD Sh	2.00	\$9.00	\$18.00	\$18.00	\$36.00

Item Value List Generated On 4/19/2018

1					riiter.((mactive =	INO) P	แทบ (อน	pplier = beri	пуе Сопрапу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD406	RADIANT OLIVE 2 HD S	1.00	\$9.00	\$18.00	\$9.00	\$18.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD507	SHINSEI MEDIUM HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD497	PALE HONEY HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD408	RADIANT OLIVE 3 HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD505	SHINSEI FAIR HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD405	RADIANT OLIVE 1 HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD493	BAMBOO 3 HD Sheer M	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD416	BEIGE NATURAL 2 HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD504	SHINSEI FAIREST HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD501	SHINSEI IVORY HD She	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD513	ALMOND HD Sheer Medi	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD409	RADIANT OLIVE 4 HD S	2.00	\$9.00	\$18.00	\$18.00	\$36.00
\$00000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD301	SPECIAL WHT HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD304	CINE FAIR HD Sheer Me	1.00	\$9.00	\$18.00	\$9.00	\$18.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD310	CINE BEIGE HD Sheer	4.00	\$9.00	\$18.00	\$36.00	\$72.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD210	NATURAL FAIR HD Shee	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD112	SILKY PEACH HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD104	PALE BISQUE HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
20000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD108	CAMEO BEIGE HD Shee	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD124	BLUSH BEIGE HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD144	LT OLIVE 1 HD Sheer M	1.00	\$9.00	\$18.00	\$9.00	\$18.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD134	SHELL PINK HD Sheer M	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD140	NATURELLE HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD005	BELLA 005 HD Sheer Me	2.00	\$9.00	\$18.00	\$18.00	\$36.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD002	BELLA 002 HD Sheer Me	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD010	BELLA 010 HD Sheer Me	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD001	BELLA 001 HD Sheer Me	1.00	\$9.00	\$18.00	\$9.00	\$18.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD006	BELLA 006 HD Sheer Me	2.00	\$9.00	\$18.00	\$18.00	\$36.00
8000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD020	BELLA 020 HD Sheer Me	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD004	BELLA 004 HD Sheer Me	2.00	\$9.00	\$18.00	\$18.00	\$36.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD003	BELLA 003 HD Sheer Me	3.00	\$9.00	\$18.00	\$27.00	\$54.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-L-3	ROSE BEIGE Creme Fn	8.00	\$4.75	\$9.50	\$38.00	\$76.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-L-5	TAN ROSE Creme Fndtn	6.00	\$4.75	\$9.50	\$28.50	\$57.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-L-0	CREAMY BEIGE Creme	2.00	\$4.75	\$9.50	\$9.50	\$19.00
SECONOMIA S	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-L-2	LITE BEIGE Creme Fndt	5.00	\$4.75	\$9.50	\$23.75	\$47.50
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-L-1	CREAMY PEACH Creme	6.00	\$4.75	\$9.50	\$28.50	\$57.00

Item Value List Generated On 4/19/2018

					mactive =	NO) A	מאו) לאוי	pplier = beri	пуе Сопрапу
Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-8	BARE BEIGE Matte HD F	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-21	WHEAT Matte HD Fndtn	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-00	WHT VELVET Matte HD	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-1	SPECIAL WHT Matte HD	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-41	SOLIEL Matte HD Fndtn [4.00	\$6.00	\$12.00	\$24.00	\$48.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-IS-3	PURE IVORY Matte HD	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD520	SOFT CARAMEL HD Sh	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD522	TAN BRULEE HD Sheer	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD814	BARE PEACH HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD816	GINGER ROSE HD She	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD838	PALE CARAMEL HD She	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD904	AU LAIT HD Sheer Media	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD913	RICH COCOA HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD916	ESPRESSO HD Sheer M	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD919	SEMI-SWEET HD Sheer	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDTV1	BROADCAST 1 HD Shee	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDTV2	BROADCAST 2 HD Shee	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDTV3	BROADCAST 3 HD Shee	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-HDTV5	BROADCAST 5 HD Shee	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM134	SHELL PINK Matte Fndtn	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM571	RICH OLIVE Matte Fndtn	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM108	CAMEO BEIGE Matte Fn	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM104	PALE BISQUE Matte Fnd	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM497	PALE HONEY Matte Fndt	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM124	BLUSH BEIGE Matte Fnd	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-12	MOJAVE BRONZE Matte	4.00	\$6.00	\$12.00	\$24.00	\$48.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-18	COCO SOUFFLE Matte	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-02	ALMOND Matte Found (2.00	\$6.00	\$12.00	\$12.00	\$24.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-20	ESPRESSO BEAN Matte	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-11	BRAZIL NUT Matte Foun	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-06	PRALINE Matte Found (1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MH-14	BROWN SUEDE Matte F	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM573	DEEP BRONZE Matte Fn	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MM507	CHAMONIX Matte Fndtn	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MA-6	DEEP EBONY Creme Fn	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MA-4	RICH COCOA Creme Fn	1.00	\$4.75	\$9.50	\$4.75	\$9.50



Item Value List Generated On 4/19/2018

11					1 11161.	(mactive =	INO) A	טט) טעו	bbiiei = peii	niye Compan	ıу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MA-1	GOLDEN BRONZE Cre	2.00	\$4.75	\$9.50	\$9.50	\$19.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MA-2	BROWN SUGAR Creme	2.00	\$4.75	\$9.50	\$9.50	\$19.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-MA-5	COFFEE BEAN Creme F	2.00	\$4.75	\$9.50	\$9.50	\$19.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-M-1	LITE BRONZE Creme Fn	6.00	\$4.75	\$9.50	\$28.50	\$57.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-M-2	SUNTONE Creme Fndtn	7.00	\$4.75	\$9.50	\$33.25	\$66.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-M-3	MEDIUM TAN Creme Fn	6.00	\$4.75	\$9.50	\$28.50	\$57.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-45	OLIVE FAIR Creme Fndt	4.00	\$4.75	\$9.50	\$19.00	\$38.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-43	ALABASTER Creme Fndt	6.00	\$4.75	\$9.50	\$28.50	\$57.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-41	FAIREST Creme Fndtn (P)	10.00	\$4.75	\$9.50	\$47.50	\$95.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-15	CADAVER GREY Creme	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-13	BLITHE SPIRIT Creme F	12.00	\$4.75	\$9.50	\$57.00	\$114.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-42	ULTRA BEIGE Creme Fn	4.00	\$4.75	\$9.50	\$19.00	\$38.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-11	CHINESE Creme Fndtn (3.00	\$4.75	\$9.50	\$14.25	\$28.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-22	DEATH BLUE GREY Cre	3.00	\$4.75	\$9.50	\$14.25	\$28.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-21	FRANKENSTEIN Creme	5.00	\$4.75	\$9.50	\$23.75	\$47.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-9	BLACK Creme Fndtn (P)	9.00	\$4.75	\$9.50	\$42.75	\$85.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-8	DARK COCO Creme Fn	5.00	\$4.75	\$9.50	\$23.75	\$47.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-19	DEATH FLESH Creme F	3.00	\$4.75	\$9.50	\$14.25	\$28.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-7	BRONZETONE Creme F	7.00	\$4.75	\$9.50	\$33.25	\$66.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-18	DEATH STRAW Creme	5.00	\$4.75	\$9.50	\$23.75	\$47.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-1	WHITE Creme Fndtn (P)	11.00	\$4.75	\$9.50	\$52.25	\$104.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-5	NATURAL FAIR Creme F	5.00	\$4.75	\$9.50	\$23.75	\$47.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-4	ULTRA FAIR Creme Fndt	11.00	\$4.75	\$9.50	\$52.25	\$104.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-6	NATURAL TAN Creme F	5.00	\$4.75	\$9.50	\$23.75	\$47.50	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-2	LITE PINK Creme Fndtn	4.00	\$4.75	\$9.50	\$19.00	\$38.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-NO-3	BISCOTTE Matte Fndtn (2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-NO-9	TAN BRULEE Matte Fndt	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-OB-3	OLIVE BEIGE 3 Matte Fn	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-OB-4	OLIVE BEIGE 4 Matte Fn	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-31	CINE FAIREST Color Ca	2.00	\$7.00	\$14.00	\$14.00	\$28.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-21	GOLDEN EBONY Color	4.00	\$7.00	\$14.00	\$28.00	\$56.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-8	BLITHE SPIRIT Color Ca	22.00	\$7.00	\$14.00	\$154.00	\$308.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-20	OLIVE SABLE Color Cak	8.00	\$7.00	\$14.00	\$56.00	\$112.00	
	Ben Nye Makeup		Ben Nye Company	BN-PC-16	CHESTNUT Color Cake	5.00	\$7.00	\$14.00	\$35.00	\$70.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-17	LT EGYPTIAN Color Cak	7.00	\$7.00	\$14.00	\$49.00	\$98.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-14	MOCHA Color Cake Fndtn	1.00	\$7.00	\$14.00	\$7.00	\$14.00	

Item Value List Generated On 4/19/2018

1					riiter.(mactive =	INO) A	מאו) למאו <i>ו</i>	pplier = beri	пуе Сопрапу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-30	ECRU Color Cake Fndtn	2.00	\$7.00	\$14.00	\$14.00	\$28.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-7	ROSE BEIGE Color Cak	13.00	\$7.00	\$14.00	\$91.00	\$182.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-7W	DEEP TAN Color Cake F	6.00	\$7.00	\$14.00	\$42.00	\$84.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-4	NAVAJO SAND Color Ca	5.00	\$7.00	\$14.00	\$35.00	\$70.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-1W	PALE ROSE Color Cake	6.00	\$7.00	\$14.00	\$42.00	\$84.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-5	NATURAL #1 Color Cake	5.00	\$7.00	\$14.00	\$35.00	\$70.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-5W	RICH TAN Color Cake F	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-3W	TAWNY PEACH Color C	4.00	\$7.00	\$14.00	\$28.00	\$56.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC024	FRESH PINK Color Cake	11.00	\$7.00	\$14.00	\$77.00	\$154.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-1	WHITE Color Cake Fndtn	6.00	\$7.00	\$14.00	\$42.00	\$84.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC021	BISQUE Color Cake Fndtn	2.00	\$7.00	\$14.00	\$14.00	\$28.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-121	LT JAPANESE Creme Fn	1.00	\$4.75	\$9.50	\$4.75	\$9.50
\$00000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-127	CARAMEL TAN Creme F	3.00	\$4.75	\$9.50	\$14.25	\$28.50
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC114	WARM TAN Color Cake	8.00	\$7.00	\$14.00	\$56.00	\$112.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC135	CALCUTTA Color Cake	8.00	\$7.00	\$14.00	\$56.00	\$112.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC842	PALE VAMPIRE Color Ca	7.00	\$7.00	\$14.00	\$49.00	\$98.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC840	DEATH FLESH Color Ca	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC841	DEATH STRAW Color C	5.00	\$7.00	\$14.00	\$35.00	\$70.00
20000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC137	TAN AU LAIT Color Cake	4.00	\$7.00	\$14.00	\$28.00	\$56.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-47	INGENUE Color Cake Fn	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-51	NATURAL #2 Color Cake	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC111	TAN #3 Color Cake Fndtn	5.00	\$7.00	\$14.00	\$35.00	\$70.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-81	CADAVER GREY Color	8.00	\$7.00	\$14.00	\$56.00	\$112.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-42	JAPANESE Color Cake F	5.00	\$7.00	\$14.00	\$35.00	\$70.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-40	SHINSEI IVORY Color C	13.00	\$7.00	\$14.00	\$91.00	\$182.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-36	CINE LT TAN Color Cake	6.00	\$7.00	\$14.00	\$42.00	\$84.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-43	CHINESE Color Cake Fn	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-33	CINE LT BEIGE Color Ca	9.00	\$7.00	\$14.00	\$63.00	\$126.00
500000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-32	CINE FAIR Color Cake F	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-34	CINE BEIGE Color Cake	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-41	SHINSEI FAIR Color Cak	3.00	\$7.00	\$14.00	\$21.00	\$42.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-T-1	GOLDEN TAN Creme Fn	5.00	\$4.75	\$9.50	\$23.75	\$47.50
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX09	KEY LIGHT StarLuxe Fn	1.00	\$9.00	\$18.00	\$9.00	\$18.00
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX11	HAUTE CHIC StarLuxe F	1.00	\$9.00	\$18.00	\$9.00	\$18.00
20000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX13	SKI PARTY StarLuxe Fnd	1.00	\$9.00	\$18.00	\$9.00	\$18.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX23	CONTOUR StarLuxe Fn	1.00	\$9.00	\$18.00	\$9.00	\$18.00

Item Value List Generated On 4/19/2018

Nye Makeup	Category BN Foundatio	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
	BN Foundatio	D 11 0							
		Ben Nye Company	BN-SLX07	STARDUST StarLuxe Fn	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX01	SAVOIR FAIR StarLuxe F	2.00	\$9.00	\$18.00	\$18.00	\$36.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SLX19	SPECIAL BRONZE StarL	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SH-0	IVORY Matte HD Fndtn (1.00	\$6.00	\$12.00	\$6.00	\$12.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SH-1	FAIREST Matte HD Fndt	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SH-2	FAIR Matte HD Fndtn (SH)	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-2	GOLDEN LATTE Matte H	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-7	SUMATRA Matte HD Fnd	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SA-9	JAVA Matte HD Fndtn (SA)	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-RO-1	RADIANT OLIVE 1 Matte	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-RO-2	RADIANT OLIVE 2 Matte	2.00	\$6.00	\$12.00	\$12.00	\$24.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-RO-3	RADIANT OLIVE 3 Matte	4.00	\$6.00	\$12.00	\$24.00	\$48.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-RO-4	RADIANT OLIVE 4 Matte	3.00	\$6.00	\$12.00	\$18.00	\$36.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-SH-4	DEEP Matte HD Fndtn (S	1.00	\$6.00	\$12.00	\$6.00	\$12.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC843	FRANKENSTEIN Color C	5.00	\$7.00	\$14.00	\$35.00	\$70.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-T-2	BRONZE TAN Creme Fn	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-20	RICE PAPER Creme Fnd	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-21	IVORY Creme Fndtn (TW)	8.00	\$4.75	\$9.50	\$38.00	\$76.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-22	GOLDEN BEIGE Creme	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-23	FAWN Creme Fndtn (TW)	4.00	\$4.75	\$9.50	\$19.00	\$38.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-24	HONEY Creme Fndtn (T	6.00	\$4.75	\$9.50	\$28.50	\$57.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-Y-1	LITE OLIVE Creme Fndt	1.00	\$4.75	\$9.50	\$4.75	\$9.50
Nye Makeup	BN Foundatio	Ben Nye Company	BN-Y-3	MEDIUM OLIVE Creme	3.00	\$4.75	\$9.50	\$14.25	\$28.50
Nye Makeup	BN Foundatio	Ben Nye Company	BN-Y-5	OLIVE TAN Creme Fndtn	2.00	\$4.75	\$9.50	\$9.50	\$19.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-BO-0	Matte HD (BO) Bamboo	0.00	\$6.00	\$12.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-EF-31	F/X Creme Fndtn CYAN	0.00	\$5.00	\$10.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-EF-5	F/X Creme Fndtn. SALL	0.00	\$5.00	\$10.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-FT-1	Matte (FT) PALE ENGLIS	0.00	\$6.00	\$12.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-FT-6	Matte Fndtn (FT) TAWN	0.00	\$6.00	\$12.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD404	Sheer MediaPRO TRUE	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD410	Sheer MediaPRO TRUE	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD407	Sheer MediaPRO TRUE	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD413	Sheer MediaPRO TRUE	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD812	Sheer MediaPRO PALE A	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Nye Makeup	BN Foundatio	Ben Nye Company	BN-HD832	Sheer MediaPRO WARM	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Nyo Makaup	RN Foundatio	Ron Nyo Company	BN-HD925	Sheer MediaPRO ESPRE	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Nye Makeup	Nye Makeup BN Foundatio BN Foundatio BN Foundatio BN Foundatio	Nye Makeup Nye Makeup BN Foundatio Ben Nye Company	Nye Makeup Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 Nye Makeup BN Foundatio Ben Nye Company BN-EF-31 Nye Makeup BN Foundatio Ben Nye Company BN-EF-5 Nye Makeup BN Foundatio Ben Nye Company BN-FT-1 Nye Makeup BN Foundatio Ben Nye Company BN-FT-6 Nye Makeup BN Foundatio Ben Nye Company BN-FT-6 Nye Makeup BN Foundatio Ben Nye Company BN-HD404 Nye Makeup BN Foundatio Ben Nye Company BN-HD410 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 BN-HD812	Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndt Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 OLIVE TAN Creme Fndtn Nye Makeup BN Foundatio Ben Nye Company BN-BO-0 Matte HD (BO) Bamboo Nye Makeup BN Foundatio Ben Nye Company BN-EF-31 F/X Creme Fndtn CYAN Nye Makeup BN Foundatio Ben Nye Company BN-FT-1 Matte (FT) PALE ENGLIS Nye Makeup BN Foundatio Ben Nye Company BN-FT-6 Matte Fndtn (FT) TAWN Nye Makeup BN Foundatio Ben Nye Company BN-HD404 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD403 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD403 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD403 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD403 Sheer MediaPRO TRUE Nye Makeup BN Foundatio Ben Nye Company BN-HD403 Sheer MediaPRO TRUE	Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndt 1.00 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme 3.00 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 OLIVE TAN Creme Fndtn 2.00 Nye Makeup BN Foundatio Ben Nye Company BN-BO-0 Matte HD (BO) Bamboo 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-EF-31 F/X Creme Fndtn CYAN 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-FT-1 Matte (FT) PALE ENGLIS 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-FT-6 Matte Fndtn (FT) TAWN 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD404 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD407 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00 Nye Makeup BN Foundatio Ben Nye Company BN-HD413 Sheer MediaPRO TRUE 0.00	Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-TY-1 LITE OLIVE Creme Fndtn 1.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Fndtn 2.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 OLIVE TAN Creme Fndtn 2.00 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-EF-31 F/X Creme Fndtn CYAN 0.00 \$5.00 <td< td=""><td>Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndtn. 1.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Fndtn. 2.00 \$4.75 \$9.50 Nye Makeup BN Foundatio<!--</td--><td>Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 \$4.75 \$9.50 \$14.25 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 \$4.75 \$9.50 \$38.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 \$4.75 \$9.50 \$28.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 \$4.75 \$9.50 \$19.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 \$28.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndtn 1.00 \$4.75 \$9.50 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Fndtn 3.00 \$4.75 \$9.50 \$14.25 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 OLIV</td></td></td<>	Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndtn. 1.00 \$4.75 \$9.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Fndtn. 2.00 \$4.75 \$9.50 Nye Makeup BN Foundatio </td <td>Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 \$4.75 \$9.50 \$14.25 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 \$4.75 \$9.50 \$38.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 \$4.75 \$9.50 \$28.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 \$4.75 \$9.50 \$19.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 \$28.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndtn 1.00 \$4.75 \$9.50 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Fndtn 3.00 \$4.75 \$9.50 \$14.25 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 OLIV</td>	Nye Makeup BN Foundatio Ben Nye Company BN-TW-20 RICE PAPER Creme Fnd 3.00 \$4.75 \$9.50 \$14.25 Nye Makeup BN Foundatio Ben Nye Company BN-TW-21 IVORY Creme Fndtn (TW) 8.00 \$4.75 \$9.50 \$38.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-22 GOLDEN BEIGE Creme 6.00 \$4.75 \$9.50 \$28.50 Nye Makeup BN Foundatio Ben Nye Company BN-TW-23 FAWN Creme Fndtn (TW) 4.00 \$4.75 \$9.50 \$19.00 Nye Makeup BN Foundatio Ben Nye Company BN-TW-24 HONEY Creme Fndtn (T 6.00 \$4.75 \$9.50 \$28.50 Nye Makeup BN Foundatio Ben Nye Company BN-Y-1 LITE OLIVE Creme Fndtn 1.00 \$4.75 \$9.50 \$4.75 Nye Makeup BN Foundatio Ben Nye Company BN-Y-3 MEDIUM OLIVE Creme Fndtn 3.00 \$4.75 \$9.50 \$14.25 Nye Makeup BN Foundatio Ben Nye Company BN-Y-5 OLIV

Item Value List Generated On 4/19/2018

11					i iitoi.	(mactive -	110) /	טטן שניו	pplici – beli	Try C Compa	u ب
•	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-M-5	Creme Fndtn (M) DESER	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-10	Creme Fndtn (P) AUGUS	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-P-101	Creme Fndtn (P) LT AUG	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-115	Color Cake RUDDY TAN	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-12	Color Cake AUGUSTE (D)	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC-205	Color Cake MOCHA JAV	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-SPHD-06	OLIVE-BROWN HD Fndt	1.00	\$37.50	\$75.00	\$37.50	\$75.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TO-1	TRUE OLIVE 1 Matte HD	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TO-2	TRUE OLIVE 2 Matte HD	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TO-3	TRUE OLIVE 3 Matte HD	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TO-4	TRUE OLIVE 4 Matte HD	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-25	Creme Fndtn (TW) AMB	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-26	Creme Fndtn (TW) AMB	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-27	Creme Fndtn (TW) COC	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-28	Creme Fndtn (TW) CINN	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-TW-29	Creme Fndtn (TW) BLUS	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Foundatio	Ben Nye Company	BN-PC305	BARELY BEIGE Color Ca	3.00	\$7.00	\$14.00	\$21.00	\$42.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CDSR1	SOLEIL RED Powder Ro	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LGS15	BUBBLEGUM Lip Gloss	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-34	COCO CHERRY Classic	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-40	Lipstick Pink Grapefruit (D)	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-49	Lipstick Cherry Cola (D)	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LGSS-1	Lip Gloss Stack 1.25oz 5	3.00	\$15.00	\$30.00	\$45.00	\$90.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LGS18	CHERRY BABY Lip Glos	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP310	SASSY PINK Pop Art Lip	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP619	VIVID VAMP Pop Art Lip	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP323	BERRY KISS Pop Art Lip	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP714	ROYAL GRAPE Pop Art L	1.00	\$4.75	\$9.50	\$4.75	\$9.50	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP747	TICKLED PINK Pop Art Li	1.00	\$4.75	\$9.50	\$4.75	\$9.50	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP760	TANGO RED Pop Art Lip	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLP415	MULBERRY Pop Art Lip	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-SPHD-20	BLUSH & CONTOUR Pal	2.00	\$37.50	\$75.00	\$75.00	\$150.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CDS-1	SOLEIL RED Powder Blu	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CDS-2	RED HOT Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DCR-01	Contour 1 Powder Rouge	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LSP-0	Lip Color Palette Empty	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
16											

Item Value List Generated On 4/19/2018

					riiler.	(mactive =	NO) A	AIND (Su	pplier = beri	nye Compar	IJ
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP415	MULBERRY Pop Art Lip	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DDR-7	CORAL Powder Rouge R	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DDR12	PINK BLUSH Powder Ro	3.00	\$4.50	\$9.00	\$13.50	\$27.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DDR13	NATURAL BLUSH Pwdr	3.00	\$4.50	\$9.00	\$13.50	\$27.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-32	BRICK RED Classic Lip	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB17	REAL RED Blush Compact	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DDR21	DUSTY PNK Powder Ro	2.00	\$4.50	\$9.00	\$9.00	\$18.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LCCP-1	BLUSH & CONTOUR Pal	0.00	\$24.00	\$48.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB15	JAZZBERRY Blush Com	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-ESP24	Theatrical Rouge Palette	0.00	\$25.00	\$50.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-ESP22	Fashion Rouge Palette 8	0.00	\$25.00	\$50.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LSP-1	NATURAL 6 Color Lip Pal	0.00	\$16.00	\$32.00	\$0.00	\$0.00	
50000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LSP-2	FASHION 6 Color Lip Pal	0.00	\$16.00	\$32.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LSP-3	CALIFORNIA SUNSET 6	0.00	\$16.00	\$32.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP147	MYSTIC PLUM Lip Colou	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP138	COCOA SPICE Lip Colou	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP135	SPICE Lip Colour Pencil	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP136	ROSEWOOD Lip Colour	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP145	GINGER SNAP Lip Colou	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP146	BERRY BROWN Lip Col	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LGW	Lip Gloss Wheel 6 Colors	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-10	CHESTNUT Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB11	TERRA BLUSH Compact	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC14	NIGHT SKY Ultra Blush	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-1	FLAME RED Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-2	CORAL RED Powder Blu	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DC-01	Contour No. 1	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DC-02	Contour No. 2	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
500000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-61	VICTORIAN ROSE Powd	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-100	Creme Cheek Rouge Wh	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-4	FUCHSIA Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-71	DESERT CORAL Powder	10.00	\$6.00	\$12.00	\$60.00	\$120.00	
2000000000	Ben Nye Makeup	· ·	Ben Nye Company	BN-DR-23	GOLDEN AMBER Powde	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup		Ben Nye Company	BN-DR-74	BLUSHING BRIDE Powd		\$6.00	\$12.00	\$0.00	\$0.00	
SECONOMICS.	Ben Nye Makeup	•	Ben Nye Company	BN-DR-14	LATTE Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	•	Ben Nye Company	BN-DDR14	LATTE Powder Rouge R	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
103											

Item Value List Generated On 4/19/2018

•						(mactive =	NO) I	4เทบ (อน	pplier = peri	r nye Compan	١
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-15	COCO ROSE Powder Bl	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-38	SILVER ICE Lipstick	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-97	ORANGE ZEST Powder	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DC-3	Contour No. 3 (D)	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB16	L-ORANGE Blush Comp	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
100000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB185	WICKED RED Blush Co	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB19	URBAN RED Blush Com	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB21	PLUM Blush Compact	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP129	MAHOGANY Lip Colour	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP134	NATURAL Lip Colour Pen	1.00	\$5.00	\$10.00	\$5.00	\$10.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR166	PERFECT ROSE Powde	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-31	HOT CORAL Lipstick	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
50000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR164	STRAWBERRY Powder	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-7	NATURAL Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-12	PINK BLUSH Powder Blu	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-13	NATURAL BLUSH Powd	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-75	NECTARINE Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-26	PRIMROSE Lipstick	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB04	ROSE BLUSH Compact	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR162	PINK BLISS Powder Blush	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-37	WINTER ICE Lipstick	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB08	ISLAND CORAL Blush C	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-11	DESERT ROSE Lipstick	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-POP213	MANDARIN Pop Art Lip C	0.00	\$4.75	\$9.50	\$0.00	\$0.00	
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-50	POPPY Lipstick	1.00	\$7.00	\$14.00	\$7.00	\$14.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP120	REALLY RED Lip Colour	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP149	CHERRY POP Lip Colour	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP151	SUPER PINK Lip Colour	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
100000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB01	BLUSHING BRIDE Comp	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP140	VINO Lip Colour Pencil	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup		Ben Nye Company	BN-DR-3	RASPBERRY Powder Blu	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-6	MISTY PINK Powder Blu	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
000000000000000000000000000000000000000	Ben Nye Makeup	•	Ben Nye Company	BN-DR-5	BRICK RED Powder Blush	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
000000000000000000000000000000000000000	Ben Nye Makeup	· ·	Ben Nye Company	BN-DDR-4	FUCHSIA Powder Rouge	1.00	\$4.50	\$9.00	\$4.50	\$9.00	
10000000000	Ben Nye Makeup	•	Ben Nye Company	BN-CR-35	NATURAL Creme Rouge	18.00	\$3.50	\$7.00	\$63.00	\$126.00	
200000000000000000000000000000000000000	Ben Nye Makeup	•	Ben Nye Company	BN-CR-38	DUSTY MAUVE Creme	13.00	\$3.50	\$7.00	\$45.50	\$91.00	
103											



Item Value List Generated On 4/19/2018

11					1 111.01.1	(IIIactive –	INO) /	טטן שנוו	ppiici – beii	Tryc Compa	.ııy
Ì	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-5	DARK TECH Creme Rou	22.00	\$3.50	\$7.00	\$77.00	\$154.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-9	RED ROCKS Creme Rou	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-8	BLUSH CORAL Creme R	7.00	\$3.50	\$7.00	\$24.50	\$49.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-1	RED Creme Rouge	5.00	\$3.50	\$7.00	\$17.50	\$35.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-7	CORAL Creme Rouge	5.00	\$3.50	\$7.00	\$17.50	\$35.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-2	DUSTY ROSE Creme Ro	3.00	\$3.50	\$7.00	\$10.50	\$21.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-3	SANDY ROSE Creme Ro	4.00	\$3.50	\$7.00	\$14.00	\$28.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-4	RASPBERRY Creme Ro	2.00	\$3.50	\$7.00	\$7.00	\$14.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-CR-0	CARNATION PINK Crem	5.00	\$3.50	\$7.00	\$17.50	\$35.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR722	SWEET PEACH Powder \dots	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR168	JUST PINK Powder Blush	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-17	RED-BROWN Powder Bl	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-7	CORAL Powder Blush	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-11	PASSION PURPLE Powd	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR111	PURPLE HAZE Powder	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-73	VINTAGE ROSE Powder	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-9	DK TECH Powder Blush	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-72	FRESH CORAL Powder	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-16	COOL PINK Powder Blush	2.00	\$6.00	\$12.00	\$12.00	\$24.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR114	WILD ORCHID Powder	4.00	\$6.00	\$12.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-DR-22	NECTAR PEACH Powder	3.00	\$6.00	\$12.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC12	COVEN RED Ultra Blush	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC09	DK BURGUNDY Ultra Bl	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC29	ONYX Ultra Blush Comp	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC03	PURPLE Ultra Blush Co	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC07	TUSCAN RED Ultra Blus	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MUC05	URBAN VIOLET Ultra Blu	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB05	BLUSHING ROSE Comp	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB03	SHY ROSE Blush Compact	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB10	SUN KISSED Blush Com	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB07	CORAL Blush Compact	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB02	CARNATION Blush Com	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-MCB09	GUAVA BLUSH Compact	1.00	\$8.00	\$16.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-6	PLUM PINK Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-41	COTTON CANDY Lipstick	9.00	\$7.00	\$14.00	\$63.00	\$126.00	
	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-5	GARNET Lipstick	5.00	\$7.00	\$14.00	\$35.00	\$70.00	
Si .											

Item Value List Generated On 4/19/2018

						(mactive =	NO) /	4เทบ (อน	pplier = beri	nye Company
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-36	GOLD ICE Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-30	CHAMPAGNE ICE Lipstick	6.00	\$7.00	\$14.00	\$42.00	\$84.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-56	BLUSHABLE Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-2	HOT PINK Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-33	MARILYN RED Lipstick	9.00	\$7.00	\$14.00	\$63.00	\$126.00
100000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-64	CANDY PINK Lipstick	5.00	\$7.00	\$14.00	\$35.00	\$70.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-12	NATURAL BROWN Lipsti	6.00	\$7.00	\$14.00	\$42.00	\$84.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-59	GYPSY ROSE Lipstick	5.00	\$7.00	\$14.00	\$35.00	\$70.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-58	PEACHY KEEN Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-23	BOYSENBERRY Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-3	CORAL Lipstick	11.00	\$7.00	\$14.00	\$77.00	\$154.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-48	WATERMELON Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
50000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-10	BORDEAUX Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-63	RED COAT Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-51	CHERRYBERRY Lipstick	5.00	\$7.00	\$14.00	\$35.00	\$70.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-19	MOCHA ROSE Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-57	DOE-A-DEER Lipstick	6.00	\$7.00	\$14.00	\$42.00	\$84.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-32	ROSE GLAZE Lipstick	7.00	\$7.00	\$14.00	\$49.00	\$98.00
20000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-60	WILD VIOLET Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-14	TRUE RED Lipstick	4.00	\$7.00	\$14.00	\$28.00	\$56.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-9	PLUM Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-47	FIRST BLUSH Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-35	VAMPIRA Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-17	BLACK Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-16	RUBY RED Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-34	RUSSIAN RED Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-62	WICKED PLUM Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-61	TWILIGHT Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
50000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-13	MAGENTA Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-8	CRANBERRY Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00
100000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-52	PINK TART Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00
000000000000000000000000000000000000000	Ben Nye Makeup		Ben Nye Company	BN-LS-15	SIREN RED Lipstick	2.00	\$7.00	\$14.00	\$14.00	\$28.00
200000000000000000000000000000000000000	Ben Nye Makeup	•	Ben Nye Company	BN-LS-55	NUDIE Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	· ·	Ben Nye Company	BN-LCS-8	RED CLAY Lip Color	11.00	\$4.75	\$9.50	\$52.25	\$104.50
SECONOMICS.	Ben Nye Makeup	•	Ben Nye Company	BN-LCS-2	VAMPIRE RED Lip Color	11.00	\$4.75	\$9.50	\$52.25	\$104.50
000000000000000000000000000000000000000	Ben Nye Makeup	•	Ben Nye Company	BN-LCS-1	BLACK Lip Color	17.00	\$4.75	\$9.50	\$80.75	\$161.50



Item Value List Generated On 4/19/2018

			riiler.	(mactive =	NO) A	AIND (Su	pplier = ber	пуе Сопрапу
Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
eup BN Lip and C	Ben Nye Company	BN-LCS-4	ZOMBIE GREEN Lip Color	9.00	\$4.75	\$9.50	\$42.75	\$85.50
eup BN Lip and C	Ben Nye Company	BN-LCS-6	NATURAL BROWN Lip C	12.00	\$4.75	\$9.50	\$57.00	\$114.00
eup BN Lip and C	Ben Nye Company	BN-LCS-7	VIXEN Lip Color	12.00	\$4.75	\$9.50	\$57.00	\$114.00
eup BN Lip and C	Ben Nye Company	BN-LCS-3	TRUE RED Lip Color	6.00	\$4.75	\$9.50	\$28.50	\$57.00
eup BN Lip and C	Ben Nye Company	BN-LCS-9	BOYSENBERRY Lip Color	11.00	\$4.75	\$9.50	\$52.25	\$104.50
eup BN Lip and C	Ben Nye Company	BN-LCS-5	NATURAL Lip Color	12.00	\$4.75	\$9.50	\$57.00	\$114.00
eup BN Lip and C	Ben Nye Company	BN-LGS10	NUDE Lip Gloss .25oz	2.00	\$4.75	\$9.50	\$9.50	\$19.00
eup BN Lip and C	Ben Nye Company	BN-LGS28	PEWTER GLAZE Lip Glo	3.00	\$4.75	\$9.50	\$14.25	\$28.50
eup BN Lip and C	Ben Nye Company	BN-LGS03	CHAMPAGNE Lip Gloss	3.00	\$4.75	\$9.50	\$14.25	\$28.50
eup BN Lip and C	Ben Nye Company	BN-LGS24	GOLD GLAZE Lip Gloss	3.00	\$4.75	\$9.50	\$14.25	\$28.50
eup BN Lip and C	Ben Nye Company	BN-LGS21	APRICOT GLAZE Lip Gl	4.00	\$4.75	\$9.50	\$19.00	\$38.00
eup BN Lip and C	Ben Nye Company	BN-LGS01	NATURAL Lip Gloss .25oz	5.00	\$4.75	\$9.50	\$23.75	\$47.50
eup BN Lip and C	Ben Nye Company	BN-LP-30	PLUM ROSE Classic Lip	35.00	\$2.50	\$5.00	\$87.50	\$175.00
eup BN Lip and C	Ben Nye Company	BN-LP-28	MAROON Classic Lip Pe	9.00	\$2.50	\$5.00	\$22.50	\$45.00
eup BN Lip and C	Ben Nye Company	BN-LP-24	PLUM Classic Lip Pencil	5.00	\$2.50	\$5.00	\$12.50	\$25.00
eup BN Lip and C	Ben Nye Company	BN-LP-36	CABERNET Classic Lip	3.00	\$2.50	\$5.00	\$7.50	\$15.00
eup BN Lip and C	Ben Nye Company	BN-LP-19	SCARLETT Classic Lip P	3.00	\$2.50	\$5.00	\$7.50	\$15.00
eup BN Lip and C	Ben Nye Company	BN-LP-26	BRANDY Classic Lip Penci	13.00	\$2.50	\$5.00	\$32.50	\$65.00
eup BN Lip and C	Ben Nye Company	BN-LP143	CHOCOHOLIC Lip Colou	1.00	\$5.00	\$10.00	\$5.00	\$10.00
eup BN Lip and C	Ben Nye Company	BN-LP132	CURRANT Lip Colour Pe	1.00	\$5.00	\$10.00	\$5.00	\$10.00
eup BN Lip and C	Ben Nye Company	BN-LP131	WINE BERRY Lip Colour	2.00	\$5.00	\$10.00	\$10.00	\$20.00
eup BN Lip and C	Ben Nye Company	BN-LP142	SALSA Lip Colour Pencil	2.00	\$5.00	\$10.00	\$10.00	\$20.00
eup BN Lip and C	Ben Nye Company	BN-LP127	NUDE Lip Colour Pencil	3.00	\$5.00	\$10.00	\$15.00	\$30.00
eup BN Lip and C	Ben Nye Company	BN-LP148	BEET RED Lip Colour Pe	2.00	\$5.00	\$10.00	\$10.00	\$20.00
eup BN Lip and C	Ben Nye Company	BN-LP130	BURGUNDY Lip Colour	2.00	\$5.00	\$10.00	\$10.00	\$20.00
eup BN Lip and C	Ben Nye Company	BN-LP150	FRENCH ROAST Lip Col	2.00	\$5.00	\$10.00	\$10.00	\$20.00
eup BN Lip and C	Ben Nye Company	BN-LP144	RUM RAISIN Lip Colour	3.00	\$5.00	\$10.00	\$15.00	\$30.00
eup BN Lip and C	Ben Nye Company	BN-LP125	BARE CEDAR Lip Colour	3.00	\$5.00	\$10.00	\$15.00	\$30.00
eup BN Lip and C	Ben Nye Company	BN-POP831	PAPAYA POP Pop Art Lip.	1.00	\$4.75	\$9.50	\$4.75	\$9.50
eup BN Lip and C	Ben Nye Company	BN-POP805	PINK MELON Pop Art Lip	3.00	\$4.75	\$9.50	\$14.25	\$28.50
eup BN Lip and C	Ben Nye Company	BN-DR112	Powder Blush GRAPEVI	0.00	\$6.00	\$9.00	\$0.00	\$0.00
eup BN Lip and C	Ben Nye Company	BN-DR-25	Powder Blush HAZELNU	0.00	\$6.00	\$9.00	\$0.00	\$0.00
eup BN Lip and C	Ben Nye Company	BN-DR-76	Powder Blush BURGUN	0.00	\$6.00	\$9.00	\$0.00	\$0.00
eup BN Lip and C	Ben Nye Company	BN-LP128	Lip Colour Pen CARAME	0.00	\$5.00	\$10.00	\$0.00	\$0.00
		BN-LP133	•		\$4.75	\$9.50	\$0.00	\$0.00
eup BN Lip and C	Ben Nye Company	BN-LP139	Lip Colour Pencil CORK (0.00	\$4.75	\$9.50	\$0.00	\$0.00
	BN Lip and C	BN Lip and C Ben Nye Company	BN Lip and C Ben Nye Company BN-LCS-4 BN Lip and C Ben Nye Company BN-LCS-5 BN Lip and C Ben Nye Company BN-LCS-3 BN-LCS-6 BN Lip and C Ben Nye Company BN-LCS-5 BN Lip and C Ben Nye Company BN-LCS-5 BN Lip and C Ben Nye Company BN-LGS-5 BN Lip and C Ben Nye Company BN-LGS-5 BN-LGS-6 BN Lip and C Ben Nye Company BN-LGS-6 BN-LGS-7 BN-LGS-8 BN Lip and C Ben Nye Company BN-LGS-8 BN-LGS-8 BN Lip and C Ben Nye Company BN-LGS-8 BN-LGS-9 BN-LGS-9 BN-LGS-9 BN-LGS-8 BN-LGS-9 BN-LGS-9 BN-LGS-8 BN-LGS-9 BN-LP-13 BN-LDR-13 BN-LP-13 BN-LP-13 BN-LP	Rup BN Lip and C Ben Nye Company BN-LCS-4 ZOMBIE GREEN Lip Color BN Lip and C Ben Nye Company BN-LCS-6 NATURAL BROWN Lip C Ben Nye Company BN-LCS-7 VIXEN Lip Color BN Lip and C Ben Nye Company BN-LCS-9 BN-LCS-3 TRUE RED Lip Color BN Lip and C Ben Nye Company BN-LCS-9 BOYSENBERRY Lip Color BN Lip and C Ben Nye Company BN-LCS-9 BOYSENBERRY Lip Color BN Lip and C Ben Nye Company BN-LCS-5 NATURAL Lip Color BN Lip and C Ben Nye Company BN-LGS-5 NATURAL Lip Color BN Lip and C Ben Nye Company BN-LGS-6 NATURAL Lip Color BN Lip and C Ben Nye Company BN-LGS-8 PEWTER GLAZE Lip Glo Ben Nye Company BN-LGS-8 PEWTER GLAZE Lip Glo Ben Nye Company BN-LGS-9 BN Lip and C Ben Nye Company BN-LP-30 PLUM ROSE Classic Lip BN Lip BN Lip and C Ben Nye Company BN-LP-30 PLUM ROSE Classic Lip Peup BN Lip and C Ben Nye Company BN-LP-24 BN Lip and C Ben Nye Company BN-LP-36 CABERNET Classic Lip Peup BN Lip and C Ben Nye Company BN-LP-36 BRANDY Classic Lip Pencil BN Lip and C Ben Nye Company BN-LP-19 SCARLETT Classic Lip Pencil BN Lip and C Ben Nye Company BN-LP-19 SCARLETT Classic Lip Pencil BN Lip and C Ben Nye Company BN-LP-14 CHOCOHOLIC Lip Colour. Ben Dye Company BN-LP-14 SALSA Lip Colour Pencil BN Lip and C Ben Nye Company BN-LP-14 SALSA Lip Colour Pencil BN Lip and C Ben Nye Company BN-LP-14 BBET RED Lip Colour Pencil BN Lip and C Ben Nye Company BN-LP-14 BBET RED Lip Colour Pencil BN Lip and C Ben Nye Company BN-LP-14 BBET RED Lip Colour Pencil BN Lip and C Ben Nye Company BN-LP-14 BBET RED Lip Colour Pencil BN Lip and C Ben Nye Company BN-LP-15 BARE CEDAR Lip Colour BN Lip and C Ben Nye Company BN-LP-15 BARE CEDAR Lip Colour BN Lip and C Ben Nye Company BN-LP-15 BARE CE	Reup BN Lip and C Ben Nye Company BN-LCS-6 NATURAL BROWN Lip Color 12.00 BN Lip and C Ben Nye Company BN-LCS-6 NATURAL BROWN Lip C 12.00 BN Lip and C Ben Nye Company BN-LCS-6 NATURAL BROWN Lip C 12.00 BN Lip and C Ben Nye Company BN-LCS-7 VIXEN Lip Color 12.00 BN Lip and C Ben Nye Company BN-LCS-9 BOYSENBERRY Lip Color 11.00 BN Lip and C Ben Nye Company BN-LCS-9 BOYSENBERRY Lip Color 11.00 BN Lip and C Ben Nye Company BN-LCS-5 NATURAL Lip Color 11.00 BN Lip and C Ben Nye Company BN-LCS-5 NATURAL Lip Color 12.00 BN Lip and C Ben Nye Company BN-LGS-10 NUDE Lip Gloss .2502 12.00 BN Lip and C Ben Nye Company BN-LGS-10 NUDE Lip Gloss .2502 12.00 BN Lip and C Ben Nye Company BN-LGS-24 GOLD GLAZE Lip Glos 3.00 BN Lip and C Ben Nye Company BN-LGS-24 GOLD GLAZE Lip Gloss 3.00 BN Lip and C Ben Nye Company BN-LGS-24 GOLD GLAZE Lip Gloss 3.00 BN Lip and C Ben Nye Company BN-LGS-21 APRICOT GLAZE Lip Gloss 3.00 BN Lip and C Ben Nye Company BN-LGS-21 APRICOT GLAZE Lip Gloss 3.00 BN Lip and C Ben Nye Company BN-LP-30 PLUM ROSE Classic Lip G 35.00 BN Lip and C Ben Nye Company BN-LP-30 PLUM ROSE Classic Lip BN Lip BN Lip and C Ben Nye Company BN-LP-28 MAROON Classic Lip Pe 9.00 BN Lip and C Ben Nye Company BN-LP-24 PLUM Classic Lip Pe 9.00 BN Lip and C Ben Nye Company BN-LP-26 BRANDY Classic Lip Pe 3.00 BN Lip and C Ben Nye Company BN-LP-36 CABERNET Classic Lip P 3.00 BN Lip and C Ben Nye Company BN-LP-36 BRANDY Classic Lip Pencil 13.00 BN Lip and C Ben Nye Company BN-LP-14 CHOCOHOLLC Lip Colou 1.00 BN Lip and C Ben Nye Company BN-LP-14 CHOCOHOLLC Lip Colou 1.00 BN Lip and C Ben Nye Company BN-LP-14 CHOCOHOLLC Lip Colou 1.00 BN Lip and C Ben Nye Company BN-LP-14 BEET RED Lip Colour Pe 2.00 BN Lip and C Ben Nye Company BN-LP-14 BEET RED Lip Colour Pe 2.00 BN Lip and C Ben Nye Company BN-LP-14 BEET RED Lip Colour Pencil 3.00 BN Lip and C Ben Nye Company BN-LP-15 FRENCH ROAST Lip Colour Boul		Category Supplier Name Description City Cost Price	Category Supplier Item Description City Cost Price Extended Cost



Item Value List Generated On 4/19/2018

•					riiler.	(mactive =	INO) /	4เทษ (อน	pplier = beri	гиуе Сотграну
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP141	Lip Colour Pencil AUBUR	0.00	\$4.75	\$9.50	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-21	Classic Lip Pencil CRIMS	0.00	\$2.50	\$5.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-22	Classic Lip Pencil RUBY	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-23	Classic Lip Pencil CORD	0.00	\$2.50	\$5.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-27	Classic Lip Pencil NUDE	0.00	\$2.50	\$5.00	\$0.00	\$0.00
100000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-34A	Classic Lip Pencil NATU	0.00	\$2.50	\$5.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LP-36A	Classic Lip Pencil RAISIN	0.00	\$2.50	\$5.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-1	Lipstick LIP GLOSS (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-18	Lipstick ZOMBIE GREEN	0.00	\$5.00	\$10.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-21	Lipstick AUTUMN RED (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-22	Lipstick BLACK CHERRY	0.00	\$5.00	\$10.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-24	Lipstick ULTRA NUDE (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
50000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-25	Lipstick BLUSH (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-27	Lipstick FRENCH MONC	0.00	\$5.00	\$10.00	\$0.00	\$0.00
100000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-28	Lipstick COCO LATTE (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-29	Lipstick GUAVA ICE (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-39	Lipstick PASSION FLOW	0.00	\$5.00	\$10.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-43	Lipstick CINNABERRY (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
20000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-44	Lipstick SHEER PLUM (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-45	Lipstick SHEER MOCHA	0.00	\$5.00	\$10.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-46	Lipstick SHY APRICOT (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-53	Lipstick SANGRIA (D)	0.00	\$5.00	\$10.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS12	Lip Colour Refill NAT BR	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS19	Lip Colour Refill MOCHA	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS26	Lip Colour Refill PRIMRO	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS33	Lip Colour Refill MARILY	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS47	Lip Colour Refill FIRST B	0.00	\$3.00	\$6.00	\$0.00	\$0.00
0000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS48	Lip Colour Refill WATER	0.00	\$3.00	\$6.00	\$0.00	\$0.00
50000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS50	Lip Colour Refill POPPY	0.00	\$3.00	\$6.00	\$0.00	\$0.00
00000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS51	Lip Colour Refill CHERRY	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-RLS52	Lip Colour Refill PINK TA	0.00	\$3.00	\$6.00	\$0.00	\$0.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Lip and C	Ben Nye Company	BN-LS-4	DUSTY ROSE Lipstick	3.00	\$7.00	\$14.00	\$21.00	\$42.00
000000000000000000000000000000000000000	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FDB-1	Petite Powder Brush	0.00	\$5.00	\$10.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FCB16	Medium Contour Brush 9/	0.00	\$6.00	\$12.00	\$0.00	\$0.00
SECRECASION.	Ben Nye Makeup	· _	Ben Nye Company	BN-FCB18	Wide Contour Brush 3/4"	0.00	\$7.00	\$14.00	\$0.00	\$0.00
200000000000000000000000000000000000000	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FCB24	Wide Foundation Brush 1	0.00	\$12.00	\$24.00	\$0.00	\$0.00



Item Value List Generated On 4/19/2018

11.					1 11161.1	(mactive =	INO) F	AIND (Su	bbilei = peli	i ivye Gumpai	ıцу
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FNS-2	Fine Pore Stipple Sponge	0.00	\$16.50	\$33.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-LF-2	Foam Sponge Dozen Pack	0.00	\$16.50	\$33.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-SP	Single Hole Pencil Sharpe	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ST-4	Tapered Spatula 3.25" Bl	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ST-5	Blending Spatula 2.5" Blade	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ESPW4	Empty 4 Well Palette	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FYB	Spritzer Bottle 2oz Empty	0.00	\$1.25	\$2.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-MXP-1	Mixing Palette 3.5"x 5" SS	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FB-5	No. 5 Brush (6.5mm)	0.00	\$3.25	\$6.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-MT-1	Modeling Tool Wooden	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-DVD-1	Makeup for the Theatre	2.00	\$20.00	\$40.00	\$40.00	\$80.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VC-1	Straight Male, Beaut. Fe	2.00	\$10.50	\$21.00	\$21.00	\$42.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VC-2	Old Age (D)	3.00	\$10.50	\$21.00	\$31.50	\$63.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VC-3	Special Effects (D)	3.00	\$10.50	\$21.00	\$31.50	\$63.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VC-5	Lay a Crepe Beard (D)	6.00	\$10.50	\$21.00	\$63.00	\$126.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VC-4	Apply a Bald Cap (D)	6.00	\$10.50	\$21.00	\$63.00	\$126.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VC-0	Complete Set of 5 (D)	2.00	\$50.00	\$100.00	\$100.00	\$200.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FCB20	Foundation Brush 7/8"	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-BVP-1	Velour Powder Puff Card	0.00	\$15.00	\$0.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ESPW8	Empty 8 Well Palette	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-MXP-2	Artist Palette 5.5"x6.5" Plex	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-HS-1	Hydra Sponge Small	0.00	\$1.50	\$3.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-NS-2	Med Pore Stipple Sponge	0.00	\$16.50	\$33.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ST-1	Stainless Steel Spatula 1	0.00	\$4.50	\$9.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-BVP	Velour Powder Puff Carded	0.00	\$1.25	\$2.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ESPWD	Empty 12 Well Palette	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FNS-1	Fine Pore Stipple Sponge	3.00	\$1.50	\$3.00	\$4.50	\$9.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-NS-1	Med Pore Stipple Sponge	5.00	\$1.50	\$3.00	\$7.50	\$15.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ESP52	Essential Eye Shadow &	1.00	\$37.50	\$75.00	\$37.50	\$75.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ESP56	Master Designer Palette	0.00	\$37.50	\$75.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-LF-1	Foam Sponge Single/8 W	358.00	\$1.38	\$3.00	\$494.83	\$1,074.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FB111	Foam Tip Applicators-25	8.00	\$3.00	\$6.00	\$24.00	\$48.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VP-1	Velour Powder Puff Single	5.00	\$1.15	\$2.50	\$5.75	\$12.50	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-BXE12	Metal Palette Box-Empty	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-BXE6	Metal Palette Box-Empty	0.00	\$3.00	\$6.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-FB-11	Foam Tip Applicators-10	0.00	\$2.00	\$4.00	\$0.00	\$0.00	



Item Value List Generated On 4/19/2018

1					riiter.	(mactive =	INO)	AIND (Ou	ppiler = peri	гиуе Сотграг	IJ
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-SW-11	Swab Tip Applicator-10 p	0.00	\$0.75	\$1.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-ST-3	Silicone Tool/ Flat Chisel	0.00	\$5.50	\$11.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-DP	Dual Pencil Sharpener	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-HS-3	Hydra Sponge Medium	0.00	\$1.75	\$3.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Makeup T	Ben Nye Company	BN-VP-2	Velour Powder Puff Doze	0.00	\$13.75	\$27.50	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC41	ADOBE Mojave Poudre	5.00	\$9.00	\$18.00	\$45.00	\$90.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC43	TANZANIA Mojave Poudr	4.00	\$9.00	\$18.00	\$36.00	\$72.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC45	AMERICANO Mojave Po	4.00	\$9.00	\$18.00	\$36.00	\$72.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC35	HONEY SPICE Mojave P	4.00	\$9.00	\$18.00	\$36.00	\$72.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV10	NUTMEG 3oz Mojave Po	5.00	\$12.50	\$25.00	\$62.50	\$125.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-3	DOLCE 1.5oz Mojave Po	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV21	TOPAZ 1.5oz Mojave Po	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV11	DARK COCOA 1.5oz Moj	2.00	\$9.00	\$18.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-1	CAMEL 1.5oz Mojave Po	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-45	COCO TAN 3oz Trans P	9.00	\$5.50	\$11.00	\$49.50	\$99.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC31	GOLDEN LIGHT Mojave	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-5	OLIVE SAND 1.5oz Moja	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-42	CHESTNUT 1.5oz Trans	10.00	\$4.00	\$8.00	\$40.00	\$80.00	
0000000	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-4	DOLCE 3oz Mojave Pow	0.00	\$12.50	\$25.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC37	SEPIA Mojave Poudre Co	3.00	\$9.00	\$18.00	\$27.00	\$54.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-89	PRETTY PINK 1.5oz Tra	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-6	OLIVE SAND 3oz Mojave	0.00	\$12.50	\$25.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-2	CAMEL 3oz Mojave Powd	0.00	\$12.50	\$25.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-8	CLAY 3oz Mojave Powder	4.00	\$12.50	\$25.00	\$50.00	\$100.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-53	EBONY 3oz Trans Powder	3.00	\$5.50	\$11.00	\$16.50	\$33.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MP-1	FAIR Translucent .9oz/25	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MP-3	SUPER WHITE Transluc	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MP-2	NEUTRAL SET Transluc	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MP-4	PLAINS DUST. 75oz Mini	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC39	MOROCCAN Mojave Po	4.00	\$9.00	\$18.00	\$36.00	\$72.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV12	DARK COCOA 3oz Moja	6.00	\$12.50	\$25.00	\$75.00	\$150.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHC33	CARAMEL Mojave Poudr	1.00	\$9.00	\$18.00	\$9.00	\$18.00	
1000000000	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-42	ROSE PETAL Luxury Po	2.00	\$11.25	\$25.00	\$22.50	\$50.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-40	ROSE PETAL Luxury Po	1.00	\$6.75	\$15.00	\$6.75	\$15.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDCP-8	BELLA POUDRE Palette	0.00	\$25.00	\$50.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHCP-8	Mojave Poudre Pallette 8	1.00	\$25.00	\$50.00	\$25.00	\$50.00	
10											



Item Value List Generated On 4/19/2018

				riiter.(mactive =	NO) I	4เทบ (อน	ppiler = beri	nye Company
Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-SHP-1	CAMEO Shimmer Powder	1.00	\$12.50	\$25.00	\$12.50	\$25.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDP-1	COLORLESS HD Matte	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC106	BANANA MediaPRO Pou	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC00	COLORLESS MediaPRO	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-7	CLAY 1.5oz Mojave Powd	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-47	SIENNA 1.5oz Trans Pow	0.00	\$4.00	\$8.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-12	COLORLESS Luxury Po	0.00	\$11.25	\$25.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-52	BUFF Luxury Powder 3oz	0.00	\$11.25	\$25.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-61	NEUTRAL SET 8oz Powd	0.00	\$10.00	\$20.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-11	COLORLESS Luxury Po	0.00	\$8.25	\$18.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-52	EBONY 1.5oz Trans Pow	7.00	\$4.00	\$8.00	\$28.00	\$56.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-43	CHESTNUT 3oz Trans P	3.00	\$5.50	\$11.00	\$16.50	\$33.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV-9	NUTMEG 1.5oz Mojave	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-72	BEIGE SUEDE Luxury Po	0.00	\$11.25	\$25.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-32	CAMEO Luxury Powder 3	0.00	\$11.25	\$25.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-RHDC102	ROSE PETAL Poudre Refil	0.00	\$4.50	\$9.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-RHDC003	Bella 003 Poudre Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-RHDC004	Bella 004 Poudre Refill	0.00	\$4.50	\$9.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC002	BELLA 002 MediaPRO P	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC001	BELLA 001 MediaPRO P	0.00	\$9.00	\$18.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-2	FAIR 3oz Trans Powder	0.00	\$5.50	\$11.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-21	FAIR 8oz Trans Powder	0.00	\$10.00	\$20.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-MHV22	TOPAZ 3oz Mojave Powd	0.00	\$12.50	\$25.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-44	COCO TAN 1.5oz Trans	4.00	\$4.00	\$8.00	\$16.00	\$32.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-91	PRETTY PINK 8oz Trans	1.00	\$10.00	\$20.00	\$10.00	\$20.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-8	SUPER WHITE 3oz Pow	6.00	\$5.50	\$11.00	\$33.00	\$66.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-2	BANANA Luxury Powder	15.00	\$11.70	\$25.00	\$175.57	\$375.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-1	BANANA Luxury Powder	0.00	\$8.78	\$18.00	\$0.00	\$0.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC201	NEUTRAL MediaPRO Co	7.00	\$9.00	\$18.00	\$63.00	\$126.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC006	BELLA 006 MediaPRO P	7.00	\$9.00	\$18.00	\$63.00	\$126.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC202	NATURAL MediaPRO Co	1.00	\$9.00	\$18.00	\$9.00	\$18.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC005	BELLA 005 Media PRO P	3.00	\$9.00	\$18.00	\$27.00	\$54.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC010	BELLA 010 MediaPRO P	3.00	\$9.00	\$18.00	\$27.00	\$54.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC110	MOCHA MediaPRO Poud	4.00	\$9.00	\$18.00	\$36.00	\$72.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC102	ROSE PETAL MediaPRO	3.00	\$9.00	\$18.00	\$27.00	\$54.00
Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC003	BELLA 003 MediaPRO P	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	DepartmentCategoryBen Nye MakeupBN PowdersBen Nye MakeupBN Powders	DepartmentCategorySupplierBen Nye MakeupBN PowdersBen Nye CompanyBen Nye Makeup <td>DepartmentCategorySupplierItemBen Nye MakeupBN PowdersBen Nye CompanyBN-SHP-1Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDP-1Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC106Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC00Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC00Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-47Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-12Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-52Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-52Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-61Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-61Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-52Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-43Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-72Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-72Ben Nye MakeupBN PowdersBen Nye CompanyBN-RHDC102Ben Nye MakeupBN PowdersBen Nye CompanyBN-RHDC102Ben Nye MakeupBN PowdersBen Nye CompanyBN-RHDC003Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC001Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-21Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-21Ben Nye Makeup<</td> <td>Department Category Supplier Item Description Ben Nye Makeup BN Powders Ben Nye Company BN-SHP-1 CAMEO Shimmer Powder Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 COLORLESS HD Matte Ben Nye Makeup BN Powders Ben Nye Company BN-HDC00 COLORLESS MediaPRO Ben Nye Makeup BN Powders Ben Nye Company BN-HDC00 COLORLESS MediaPRO Ben Nye Makeup BN Powders Ben Nye Company BN-HD-7 CLAY 1.50z Mojave Powd Ben Nye Makeup BN Powders Ben Nye Company BN-HP-47 SIENNA 1.50z Trans Pow Ben Nye Makeup BN Powders Ben Nye Company BN-BV-12 COLORLESS Luxury Po Ben Nye Makeup BN Powders Ben Nye Company BN-TP-61 NEUTRAL SET 80z Powd. Ben Nye Makeup BN Powders Ben Nye Company BN-TP-63 NETTRAL SET 80z Powd Ben Nye Makeup BN Powders Ben Nye Company BN-TP-43 CHESTNUT 30z Trans Pow Ben Nye Makeup BN Powders Ben Nye Company</td> <td>Department Category Supplier Item Description Qty Ben Nye Makeup BN Powders Ben Nye Company BN-BP-1 CAMEO Shimmer Powder 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 CAMEO Shimmer Powder 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC106 BANANA MediaPRO Pou 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HHV-7 CLAY 1.50z Mojave Powd 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HHV-7 CLAY 1.50z Mojave Powd 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-47 SIENNA 1.50z Trans Pow 0.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-47 SIENNA 1.50z Trans Pow 0.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-51 BUFF Luxury Powder 30z 0.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-61 NEUTRAL SET 80z Powd 0.00 Ben Nye Makeup BN Powders<</td> <td>Department Category Supplier Item Description Oby Cote Ben Nye Makeup BN Powders Ben Nye Company BN-SHP-1 CAMEO Shimmer Powder 1.00 \$12.50 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC10 CAMEO Shimmer Powder 1.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC10 COLORLESS HodaPRO 1.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC10 COLORLESS Luxury Powder 1.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-12 COLORLESS Luxury Powder 0.00 \$11.25 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-12 COLORLESS Luxury Powder 0.00 \$11.25 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-11 COLORLESS Luxury Powder 0.00 \$10.00 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-11 COLORLESS Luxury Powder 0.00 \$8.25 Ben Nye Makeup BN Powders<</td> <td>Department Category Supplier Item Description Qty Cots Price Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 CAMEO Shimmer Powders 1.00 \$12.50 \$25.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC106 BANANA MediaPRO Pou 1.00 \$9.00 \$18.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC106 BANANA MediaPRO Pou 1.00 \$9.00 \$18.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HHV-7 CLAY 1.502 Mojave Powd 1.00 \$9.00 \$18.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HY-7 SIENN4 1.502 Trans Pow 0.00 \$4.00 \$8.00 Ben Nye Makeup BN Powders Ben Nye Company BN-BY-52 BUFF Luxury Powder 302 0.00 \$11.25 \$25.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TF-61 NEUTRAL SET 802 Powd. 0.00 \$8.02 \$18.00 Ben Nye Makeup BN Powders Ben Nye Comp</td> <td>Department Category Supplier Item Description Cot Cots Frice Exholed Gost Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 COLORLESS HD Matte 1.00 \$12.50 \$15.00 \$15.00 \$18.00 \$30.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC010 COLORLESS Madia/PRO-L 1.00 \$9.00 \$18.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC010 COLORLESS Madia/PRO-L 1.00 \$9.00 \$18.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC010 COLORLESS Luxury Po 0.00 \$11.02 \$25.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-47 SIENDHA I.Soz Trans Pow 0.00 \$11.25 \$25.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-52 BUFE Luxury Powder 32 0.00 \$11.25 \$25.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-52</td>	DepartmentCategorySupplierItemBen Nye MakeupBN PowdersBen Nye CompanyBN-SHP-1Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDP-1Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC106Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC00Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC00Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-47Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-12Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-52Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-52Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-61Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-61Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-52Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-43Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-72Ben Nye MakeupBN PowdersBen Nye CompanyBN-BV-72Ben Nye MakeupBN PowdersBen Nye CompanyBN-RHDC102Ben Nye MakeupBN PowdersBen Nye CompanyBN-RHDC102Ben Nye MakeupBN PowdersBen Nye CompanyBN-RHDC003Ben Nye MakeupBN PowdersBen Nye CompanyBN-HDC001Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-21Ben Nye MakeupBN PowdersBen Nye CompanyBN-TP-21Ben Nye Makeup<	Department Category Supplier Item Description Ben Nye Makeup BN Powders Ben Nye Company BN-SHP-1 CAMEO Shimmer Powder Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 COLORLESS HD Matte Ben Nye Makeup BN Powders Ben Nye Company BN-HDC00 COLORLESS MediaPRO Ben Nye Makeup BN Powders Ben Nye Company BN-HDC00 COLORLESS MediaPRO Ben Nye Makeup BN Powders Ben Nye Company BN-HD-7 CLAY 1.50z Mojave Powd Ben Nye Makeup BN Powders Ben Nye Company BN-HP-47 SIENNA 1.50z Trans Pow Ben Nye Makeup BN Powders Ben Nye Company BN-BV-12 COLORLESS Luxury Po Ben Nye Makeup BN Powders Ben Nye Company BN-TP-61 NEUTRAL SET 80z Powd. Ben Nye Makeup BN Powders Ben Nye Company BN-TP-63 NETTRAL SET 80z Powd Ben Nye Makeup BN Powders Ben Nye Company BN-TP-43 CHESTNUT 30z Trans Pow Ben Nye Makeup BN Powders Ben Nye Company	Department Category Supplier Item Description Qty Ben Nye Makeup BN Powders Ben Nye Company BN-BP-1 CAMEO Shimmer Powder 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 CAMEO Shimmer Powder 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC106 BANANA MediaPRO Pou 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HHV-7 CLAY 1.50z Mojave Powd 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HHV-7 CLAY 1.50z Mojave Powd 1.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-47 SIENNA 1.50z Trans Pow 0.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-47 SIENNA 1.50z Trans Pow 0.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-51 BUFF Luxury Powder 30z 0.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-61 NEUTRAL SET 80z Powd 0.00 Ben Nye Makeup BN Powders<	Department Category Supplier Item Description Oby Cote Ben Nye Makeup BN Powders Ben Nye Company BN-SHP-1 CAMEO Shimmer Powder 1.00 \$12.50 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC10 CAMEO Shimmer Powder 1.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC10 COLORLESS HodaPRO 1.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC10 COLORLESS Luxury Powder 1.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-12 COLORLESS Luxury Powder 0.00 \$11.25 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-12 COLORLESS Luxury Powder 0.00 \$11.25 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-11 COLORLESS Luxury Powder 0.00 \$10.00 Ben Nye Makeup BN Powders Ben Nye Company BN-BV-11 COLORLESS Luxury Powder 0.00 \$8.25 Ben Nye Makeup BN Powders<	Department Category Supplier Item Description Qty Cots Price Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 CAMEO Shimmer Powders 1.00 \$12.50 \$25.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC106 BANANA MediaPRO Pou 1.00 \$9.00 \$18.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC106 BANANA MediaPRO Pou 1.00 \$9.00 \$18.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HHV-7 CLAY 1.502 Mojave Powd 1.00 \$9.00 \$18.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HY-7 SIENN4 1.502 Trans Pow 0.00 \$4.00 \$8.00 Ben Nye Makeup BN Powders Ben Nye Company BN-BY-52 BUFF Luxury Powder 302 0.00 \$11.25 \$25.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TF-61 NEUTRAL SET 802 Powd. 0.00 \$8.02 \$18.00 Ben Nye Makeup BN Powders Ben Nye Comp	Department Category Supplier Item Description Cot Cots Frice Exholed Gost Ben Nye Makeup BN Powders Ben Nye Company BN-HDP-1 COLORLESS HD Matte 1.00 \$12.50 \$15.00 \$15.00 \$18.00 \$30.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC010 COLORLESS Madia/PRO-L 1.00 \$9.00 \$18.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC010 COLORLESS Madia/PRO-L 1.00 \$9.00 \$18.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-HDC010 COLORLESS Luxury Po 0.00 \$11.02 \$25.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-47 SIENDHA I.Soz Trans Pow 0.00 \$11.25 \$25.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-52 BUFE Luxury Powder 32 0.00 \$11.25 \$25.00 \$9.00 Ben Nye Makeup BN Powders Ben Nye Company BN-TP-52



Item Value List Generated On 4/19/2018

/					ו וונטו.	(IIIactive =	= INO) /	טט טעוד (טע	bbiiei = peii	nye Compan)
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-9	PRETTY PINK 3oz Trans	6.00	\$5.50	\$11.00	\$33.00	\$66.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-HDC004	BELLA 004 Media PRO P	2.00	\$9.00	\$18.00	\$18.00	\$36.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-1	FAIR 1.5oz Trans Powder	2.00	\$4.00	\$8.00	\$8.00	\$16.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-51	BUFF Luxury Powder 1.5	0.00	\$8.25	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-6	NEUTRAL SET 3oz Powd	2.00	\$5.50	\$11.00	\$11.00	\$22.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-71	BEIGE SUEDE Luxury Po	2.00	\$8.25	\$18.00	\$16.50	\$36.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-81	SUPER WHITE 8oz Pow	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-41	ROSE PETAL Luxury Po	3.00	\$8.25	\$18.00	\$24.75	\$54.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-31	CAMEO Luxury Powder 1	2.00	\$8.25	\$18.00	\$16.50	\$36.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-7	SUPER WHITE 1.5oz Po	11.00	\$4.00	\$8.00	\$44.00	\$88.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-5	NEUTRAL SET 1.5oz Po	53.00	\$4.00	\$8.00	\$212.00	\$424.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-SHP-7	BRONZE Shimmer Powder	4.00	\$12.50	\$25.00	\$50.00	\$100.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-SHP-5	BANANA Shimmer Powder	2.00	\$12.50	\$25.00	\$25.00	\$50.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-33	Luxury Powder 8oz CAM	0.00	\$14.00	\$28.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-53	Luxury Powder 8oz Jar B	0.00	\$14.00	\$28.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-BV-74	Luxury Powder BEIGE S	0.00	\$14.00	\$28.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-0	Poudre Compacte GOTH	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-1	Poudre Compacte ULTR	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-10	Poudre Compacte MOC	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-11	Poudre Compacte EBON	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-12	Poudre Compacte SABL	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-2	Poudre Compacte BISQ	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-3	Poudre Compacte ECRU	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-5	Poudre Compacte BEIGE	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-6	Poudre Compacte BANA	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-7	Poudre Compacte SIENN	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-CP-9	Poudre Compacte COC	0.00	\$5.00	\$10.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-LX100	ULTRA BRIGHT Lumiere	0.00	\$7.00	\$14.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-3	TOPAZ 1.5oz Trans Pow	0.00	\$4.00	\$8.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-4	TOPAZ 3oz Trans Powde	0.00	\$5.50	\$11.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-54	SABLE Trans Face Pwdr	0.00	\$2.50	\$5.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Powders	Ben Nye Company	BN-TP-55	SABLE Trans Face Pwdr	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BS-4	Simulated Bone Wax 16o	0.00	\$14.50	\$29.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BS-3	Simulated Bone Wax 8oz	0.00	\$9.00	\$18.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BP-0	Bald Cap by Woochie	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-CLL2	Liquid Latex 2oz 36Pc Bulk	0.00	\$149.00	\$0.00	\$0.00	\$0.00	
ß											



Item Value List Generated On 4/19/2018

1					riiter.(mactive =	= INO) F	-เมบ (อน	pplier = beri	nye Company
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BBNW1	Nose & Scar Wax 1oz 48	0.00	\$106.75	\$0.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-KS-2	Castor Sealer 8oz	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BW-1	BROWN Nose & Scar W	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LBW-1	LT BROWN 1oz Nose &	0.00	\$2.50	\$5.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BS-2	Simulated Bone Wax 2oz	0.00	\$5.00	\$8.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LBW-3	LT BROWN 8oz Nose &	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-5	Liquid Latex 32 oz	0.00	\$22.00	\$44.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-NW-3	FAIR 8oz Nose & Scar W	0.00	\$9.00	\$18.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BW-4	BROWN Nose & Scar W	0.00	\$14.50	\$29.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-1	Liquid Latex 1oz	29.00	\$2.55	\$6.00	\$73.95	\$174.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LR-25	Clear Latex 4oz/ 118ml	23.00	\$6.50	\$13.00	\$149.50	\$299.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-25	Liquid Latex 4oz	19.00	\$6.50	\$13.00	\$123.50	\$247.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-52	Liquid Latex Sensitive Ski	10.00	\$6.00	\$12.00	\$60.00	\$120.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LR-1	Clear Latex 1oz/29ml	42.00	\$3.00	\$6.00	\$126.00	\$252.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-NW-4	FAIR 16oz Nose & Scar	2.00	\$14.50	\$29.00	\$29.00	\$58.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-DK-2	3-D Special Effects Kit	21.00	\$11.96	\$26.00	\$251.16	\$546.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-4	Liquid Latex 16 oz	0.00	\$15.00	\$30.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BW-3	BROWN Nose & Scar W	5.00	\$9.00	\$18.00	\$45.00	\$90.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-3	Liquid Latex 8oz	9.00	\$10.00	\$20.00	\$90.00	\$180.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-BW-2	BROWN Nose & Scar W	4.00	\$4.00	\$8.00	\$16.00	\$32.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LBW-2	LT BROWN 2.5oz Nose	0.00	\$4.00	\$8.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-NW-2	FAIR 2.5oz Nose & Scar	1.00	\$4.00	\$8.00	\$4.00	\$8.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-NW-1	FAIR 1oz Nose & Scar W	44.00	\$2.22	\$5.00	\$97.68	\$220.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-LL-2	Liquid Latex 2oz	25.00	\$4.15	\$9.00	\$103.85	\$225.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-WS-2	Wrinkle Stipple 2 oz	3.00	\$4.50	\$9.00	\$13.50	\$27.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-KS-1	Castor Sealer 2oz	1.00	\$3.00	\$6.00	\$3.00	\$6.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-KS-0	Castor Sealer 1oz	12.00	\$1.75	\$3.50	\$21.00	\$42.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-KS-00	Castor Sealer .5oz	0.00	\$1.50	\$3.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Prosthetic	Ben Nye Company	BN-WS-1	Wrinkle Stipple 1 oz	0.00	\$2.75	\$6.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-LQ-1	LiquiSet 1 fl oz/29ml	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Ben Nye Makeup		Ben Nye Company	BN-RR-2	Remove-It All 2 fl oz	0.00	\$3.75	\$7.50	\$0.00	\$0.00
	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-CLQ0	LiquiSet 1oz Spritzer 24Pc	0.00	\$64.75	\$0.00	\$0.00	\$0.00
00000000	Ben Nye Makeup		Ben Nye Company	BN-QR-1	Quick Cleanse .5oz	0.00	\$1.25	\$2.50	\$0.00	\$0.00
0000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-RR-8	Remove-It All 8 fl oz	0.00	\$7.50	\$15.00	\$0.00	\$0.00
2000000000	Ben Nye Makeup		Ben Nye Company	BN-BC-11	Brush Cleaner 2oz/59ml	1.00	\$3.50	\$7.00	\$3.50	\$7.00
0000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-FY-8	Final Seal Matte Sealer 8	0.00	\$12.50	\$25.00	\$0.00	\$0.00
68										



Item Value List Generated On 4/19/2018

					riiler.	(mactive =	: INO) /	אואה (פתו ג	pplier = beri	niye Compan	١
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-LQ-21	LiquiSet 2 fl oz/59ml Spray	2.00	\$3.75	\$7.50	\$7.50	\$15.00	
000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-LQ-2	LiquiSet 2 fl oz/59ml	0.00	\$3.50	\$7.00	\$0.00	\$0.00	
0000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-QR-5	Quick Cleanse 16oz	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-FY-2	Final Seal Matte Sealer 2	1.00	\$6.00	\$12.00	\$6.00	\$12.00	
0000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-LQ-4	LiquiSet 4 fl oz/ 118ml	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-FY-16	Final Seal Matte Sealer 1	0.00	\$19.00	\$38.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-BC-4	Brush Cleaner 32oz/946	0.00	\$22.00	\$44.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-HR-3	Hydra Cleanse 16oz/473ml	1.00	\$7.50	\$15.00	\$7.50	\$15.00	
000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-BC-3	Brush Cleaner 16oz/473	0.00	\$13.50	\$27.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-BC-21	Brush Cleaner 8oz/236ml	0.00	\$8.00	\$16.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-FY-0	Final Seal Matte Sealer 1	1.00	\$3.60	\$8.00	\$3.60	\$8.00	
0000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-QR-3	Quick Cleanse 2oz	14.00	\$2.50	\$5.00	\$35.00	\$70.00	
500000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-LQ-16	LiquiSet 16 fl oz/ 473ml Jug	0.00	\$14.00	\$28.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-HR-1	Hydra Cleanse 2oz/58ml	2.00	\$2.50	\$5.00	\$5.00	\$10.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-QR-41	Quick Cleanse 8oz Pump	5.00	\$6.00	\$12.00	\$30.00	\$60.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-HR-21	Hydra Cleanse 8oz/236ml	0.00	\$6.00	\$12.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-LQ-0	LiquiSet 1 fl oz/ 29ml Spray	12.00	\$2.40	\$6.00	\$28.80	\$72.00	
000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-BC-1	Brush Cleaner 2oz/59ml	5.00	\$3.00	\$6.00	\$15.00	\$30.00	
200000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-QR-2	Quick Cleanse 1oz	7.00	\$1.50	\$3.00	\$10.50	\$21.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-BC-0	Brush Cleaner 1oz/29ml (0.00	\$2.00	\$4.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Sealers a	Ben Nye Company	BN-BC-2	Brush Cleaner 8oz/236ml	0.00	\$7.50	\$15.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-6	Personal Kit BROWN: D	1.00	\$10.00	\$20.00	\$10.00	\$20.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-4	Personal Kit OLIVE: DEEP	2.00	\$10.00	\$20.00	\$20.00	\$40.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-3	Personal Kit OLIVE: FAIR	3.00	\$10.00	\$20.00	\$30.00	\$60.00	
000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-45	Personal Kit BROWN: LITE	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-1	Personal Kit FAIR: LITE/	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-0	Personal Kit FAIR: LIGHT	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-5	Personal Kit BROWN: M	0.00	\$10.00	\$20.00	\$0.00	\$0.00	
50000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-FK-1	Master Production Make	0.00	\$108.00	\$150.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-PK-2	Personal Kit FAIR: TAN	2.00	\$10.00	\$20.00	\$20.00	\$40.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-11	Theatrical Cake Kit: FAIR	0.00	\$43.77	\$65.00	\$0.00	\$0.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-7	Theatrical Kit BROWN: D	2.00	\$43.20	\$60.00	\$86.40	\$120.00	
000000000000000000000000000000000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-13	Theatrical Cake Kit: BRO	2.00	\$46.80	\$65.00	\$93.60	\$130.00	
10000000000	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-3	Theatrical Kit OLIVE: LIT	0.00	\$40.05	\$60.00	\$0.00	\$0.00	
GEOGRAPHICA .	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-2	Theatrical Kit FAIR: MED/	0.00	\$39.00	\$60.00	\$0.00	\$0.00	
XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-4	Theatrical Kit OLIVE: ME	4.00	\$43.20	\$60.00	\$172.80	\$240.00	



Item Value List Generated On 4/19/2018

14					Filter:((Inactive =	· No)	AND (Su	pplier = Ben	Nye Company)
	Department	Category	Supplier	Item	Description	Qty	Cost	Price	Extended Cost	Extended Price
	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-12	Theatrical Cake Kit: OLIVE	7.00	\$46.80	\$65.00	\$327.60	\$455.00
	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-5	Theatrical Kit BROWN: Ll	2.00	\$41.80	\$60.00	\$83.60	\$120.00
	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-1	Theatrical Kit FAIR: LITE/	0.00	\$39.00	\$60.00	\$0.00	\$0.00
	Ben Nye Makeup	BN Theatrical	Ben Nye Company	BN-TK-6	Theatrical Kit BROWN: M	0.00	\$43.20	\$60.00	\$0.00	\$0.00
L	Makeup					21.00			\$145.00	\$290.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-FW-41	SILVER SATIN .65oz Fire	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-MK-1	EMS Moulage Kit	0.00	\$324.00	\$450.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-RLG-01	LGP Refill Natural (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-RLG-10	LGP Refill Nude (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-RLG-15	LGP Refill Bubblegum (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-RLG-18	LGP Refill Cherry Baby (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-RLG-21	LGP Refill Apricot Glaze (0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-RLG-24	LGP Refill Gold Glaze (D)	0.00	\$3.00	\$6.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-LW	Lumiere Wheel Creme 1oz	0.00	\$10.00	\$20.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-MK-3	Basic Moulage Kit	0.00	\$108.00	\$150.00	\$0.00	\$0.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-TP-48	SIENNA 2.8oz Trans Pow	2.00	\$5.50	\$11.00	\$11.00	\$22.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-FP202	CLOWN WHITE LITE Pr	12.00	\$8.00	\$16.00	\$96.00	\$192.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-EL-11	BLACK Pro Size .18oz/5	1.00	\$7.00	\$14.00	\$7.00	\$14.00
	Makeup	Ben Nye Mak	Ben Nye Company	BN-DR-21	DUSTY PINK Powder Blu	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Makeup	BN Character	Ben Nye Company	BN-BH-2	DARK BROWN Hair Colo	0.00	\$3.50	\$7.00	\$0.00	\$0.00
	Makeup	BN Eye Make	Ben Nye Company	BN-SL-11	ESPRESSO MediaPRO	2.00	\$5.00	\$10.00	\$10.00	\$20.00
	Makeup	BN Eye Make	Ben Nye Company	BN-SL-12	AUBERGINE MediaPRO	3.00	\$5.00	\$10.00	\$15.00	\$30.00
	Makeup	BN Face and	Ben Nye Company	BN-LX-1	ICE Lumiere Powder	1.00	\$6.00	\$12.00	\$6.00	\$12.00
	Makeup	BN Face and	Ben Nye Company	BN-LX-2	ICED GOLD Lumiere Po	0.00	\$6.00	\$12.00	\$0.00	\$0.00
	Makeup	Mehron Make	Ben Nye Company	ME-CPK-C	CAUCASIAN CelebrePro	0.00	\$50.00	\$60.00	\$0.00	\$0.00
	Makeup	Mehron Make	Ben Nye Company	ME-CPK-TV	TV/VIDEO CelebrePro Kit	0.00	\$50.00	\$60.00	\$0.00	\$0.00